VEVOR'

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate www.vevor.com/support

WHIP LIGHTS

MODEL: WM-3190RGB-XC-CR-1/WM-31120RGB-XC-CR-1/
WM-31150RGB-XC-CR-1/WM-3190RGB-XC-CR-TH-1/
WM-3190RGB-XC-CR-2/WM-31120RGB-XC-CR-2/
WM-31150RGB-XC-CR-2/WM-3190RGB-XC-CR-TH-2/
WM-31120RGB-XC-CR-TH-2/WM-3190RGB-XC-XH-2/
WM-31120RGB-XC-XH-2

We continue to be committed to provide you tools with competitive price.

"Save Half", "Half Price" or any other similar expressions used by us only represents an
estimate of savings you might benefit from buying certain tools with us compared to the major
top brands and does not necessarily mean to cover all categories of tools offered by us. You

are kindly reminded to verify carefully when you are placing an order with us if you are

actually saving half in comparison with the top major brands.


https://www.vevor.com/support

VEVOR® WHIP LIGHTS

TOUGH TOOLS, HALF PRICE

MODEL: WM-3190RGB-XC-CR-1/WM-31120RGB-XC-CR-1/
WM-31150RGB-XC-CR-1/WM-3190RGB-XC-CR-TH-1/
WM-3190RGB-XC-CR-2/WM-31120RGB-XC-CR-2/
WM-31150RGB-XC-CR-2/WM-3190RGB-XC-CR-TH-2/
WM-31120RGB-XC-CR-TH-2/WM-3190RGB-XC-XH-2/

WM-31120RGB-XC-XH-2
; N

d

’

<Picture Only For Reference >

NEED HELP? CONTACT US!

Have product questions? Need technical support? Please feel free to

contact us:
Technical Support and E-Warranty Certificate
www.vevor.com/support

This is the original instruction, please read all manual instructions
carefully before operating. VEVOR reserves a clear interpretation of our
user manual. The appearance of the product shall be subject to the
product you received. Please forgive us that we won't inform you again if
there are any technology or software updates on our product.



IMPORTANT SAFEGUARDS

P N WARNING: Read and understand this entire manual before

' | operating or servicing this product. Failure to follow these

warnings and instructions can cause personal injury or

damage to valuable property.

® Avoid children using whip light. And this product is not a toy. Do not
allow children to play with.

® Keep away from sharp points,blades and other items.

1.Assemble only according to these instructions. Improper assembly can

create hazards.

2.Keep assembly area clean and well-lit.

3.Do not assemble when tired or when under the influence of alcohol,

drugs or medication.

4.Product capabilities apply to properly and completely assembled product

only.

5. For additional information regarding the parts listed in the following

pages, please refer to the Assembly Diagram of this manual. Unwrap and

separate all parts in a clean work area. Please keep small spare parts out of

children's reach.

SAVE THESE INSTRUCTIONS




PRODUCT SPECIFICATIONS

- L1 >

T e e s e e e s e m e St e s |
pa} 14 1] Eo e
- L2 >
Model L1 D1 L2 T
(mm) | (mm) (mm) (mm)

WM-3190RGB-XC-CR-1 920 31 70 M12*30

WM-31120RGB-XC-CR-1 1230 31 70 M12*30

WM-31150RGB-XC-CR-1 1530 31 70 M12*30

WM-3190RGB-XC-CR-TH-1 1005 43 158 M12*30

WM-3190RGB-XC-CR-2 920 31 70 M12*30

WM-31120RGB-XC-CR-2 1230 31 70 M12*30

WM-31150RGB-XC-CR-2 1530 31 70 M12*30

WM-3190RGB-XC-CR-TH-2 1005 43 158 M12*30

WM-31120RGB-XC-CR-TH-2 | 1320 43 158 M12*30

WM-3190RGB-XC-XH-2 930 31 70 M12*30

WM-31120RGB-XC-XH-2 1230 31 70 M12*30




PACKAGE INCLUDE

Model / QTY
WM-3 | WM-3 | WM-3 | WM-3
190R | 1120R | 1150R | 190R WM-3 | WM-3
No | DESC PIC 190RG | 1120R
GB-X GB-X GB-X GB-X
B-XC- | GB-XC
C-CR- | C-CR- | C-CR- | C-CR-
CR-2 -CR-2
1 1 1 TH-1
whip
1 ) 1 1 1 1 2 2
lights
i
2 flag e 2 2 2 2 4 4
Screw Il
3 it 2 2 2 2 4 4
(M4*15) >
4 | Manut | © 2 4 4
5 shim ’F) 2 4 4
dust
6 o— 1 1 1 1 2 2
cap
Big 0
7 \ J 2 2 2 2 4 4
hook '
small
8 2 2 2 2 4 4
hook
2 22
9 0 1 1 1 1 2 2
hoop 7
2 20
10 1 1 1 1 2 2
hoop 7
remote
11 1 1 1 1 1 1
control
12 | manual 1 1 1 1 1 1
Sprin
13 pring o o _ 1 _ _
base




Model / QTY

WM-31 WM-31 WM-31 WM-31 WM-31
No | DESC PIC | 150RG | 90RGB- | 120RG | 90RGB- | 120RG
B-XC-C | XC-CR- | B-XC-C | XC-XH- | B-XC-X
R-2 TH-2 R-TH-2 2 H-2
whip
1 . I 2 2 2 2 2
lights
EaS
2 flag 7 4 4 4 4 4
Screw Ilf;
3 I 4 4 4 4 4
(M4*15) | =
4 | M4 nut O 4 4 4 4 4
5 shim o) 4 4 4 4 4
6 | dustcap | &—O 2 2 2 2 2
[_f\'
7 | Bighook | | j 4 4 4 4 4
small
8 4 4 4 4 4
hook
2 22
9 0 2 2 2 — —
hoop .
2z 20
10 0 2 2 2 — —
hoop .
2 16
1 — — — 4 4
hoop .
remote
12 1 1 1 1 1
control
13 manual 1 1 1 1 1
Sori
Wi e | |
base




INSTALLATION INSTRUCTIONS

Step 1: Lift the ring.

Step2: Tighten the base on your
bracket on the vehicle.

+
/
~

%

Step 3: Connect all wires to
) . Step 4: Connect to the battery
corresponding positions. . ,
. ) wire,connect the red wire to the
Note: Please note that the directions of o ]
) . positive pole and the black wire to
the arrows on both sides of the wiring ,
the negative pole.
must correspond.

Step 5: Installation is complete.
Please test if the light is working
normally.




OPERATING INSTRUCTIONS

There are two operating methods: one is through a remote controller, and the other
is through Magic Lantern App. The specific operating ways for both methods are
explained below.

Remote Control Description:

T

Automatic mode

|____Turn on/Standby
Stop —@ AUTO 0_
— Dynamic SpeedA
Brightness :,:
Mode
Static color ® @ .H
adjustment . .
Timing —@ @ @ Timing
function function
Locked @—— Unlock
O @ O Scene mode




Operation manual of remote controller:

1. Using Remote Controller;

Please pull out the battery insulate tape before using. The 2.4G remote signal can
pass through barrier, so it's not, necessary to aim at the main unit when operate.
2. Pairing New RemoteThe remote and main unit is 1 to 1 paired as default.
Further more, main unit can be paired to 3 remote controllers and each remote
controller can be paired to any main unit.

3. Free Remote Pairing Mode;

In some specific cases, the main unit may need to be paired to any remote
controllers. Please do following steps for free remote pairing mode:Plug off the
power of main unit and plug in after seconds.

4. Switch Output Color Sequence;

The controller's default output signal sequence 1sCommon-Green-Red-Blue. If the
LED application is in different cable sequence, the direct color keys will not match
the LED color. In this case, user can adjust the output signal sequence.

Note: The peak output current is 4 amperes and maximum constant current is 2
amperes per channel. Please reduce load if main unit is overheating. CAUTION
Do not short circuit or overload the LED outputs, this may lead to permanent

damage!
@ Press on or enter the standby state
Pause
Automatic mode (21 default dynamic
mode cycles)

Speed / sensitivity increases /
decreases

Mode switching

9. - Brightness increases / decreases

® @ . .@ Switch the light color to:
red/green/blue/yellow/cyan/purple/white




@ @ Turn off the lights regularly for 1 hour/2
hour
@ Locked/Unlock
According to the program set color flow
display
O @ O Switch respectively is: the
snowflake/romantic/starry sky model

Note: Adjust the brightness, when the speed is large, the light flashes to indicate
that it has been adjusted to the maximum or minimum state.

Operation manual of Magic Lantern APP:

1.1 Overview

The Magic Lantern is a mobile app that controls the LED lamp belt through apple
or Android mobile phone.

The traditional control ways like infrared, 433MHz, 2.4GHz and others old wired
ways will be replaced by mobile phone control way with convenient, powerful and
scalable features.

Through the mobile app, you can easily and quickly control the color, brightness
and color temperature of the LED light belt. You can also set various flashing
modes, and make the LED light belt move with the music rhythm. Just keep the
LED light band powered on, turn on the mobile phone Magic Lotus lamp app
intelligent control software, connect one or more LED light band controllers
through Bluetooth, so as to realize various settings and control of multiple LED
light bands. Operation is very simple, easy to learn and use.

1.2 Features

e Adjust color LED strips with 60,000 colors to change color and brightness and
adjust monochrome LED stips to change brightness and color temperature

e Play mobile music or turn on a sound playback device, you can let the light
change the color and brightness with the rhythm of music, the music rhythm
beautiful

e Inside multiple setting mode for color change and control LED strips without
mobile




e Long distance control with omni-directional antenna, and many-to-many group
control mode
e Quick and easy automatic connection

1.3 Performance
Magic Lantern APP is ease to use and compatible. The actual testing and
verification of hundreds of mobile phones is compatible with the current market.
Most smartphones. APP is small and convenient, it consumes less system
resources, so the requirements of the mobile configuration are low. Control delay
is small, the operation feel good, light control is smooth with people’s visual
sense.

2. Operating Environment
This APP program requires phones of system above Andriod 4.3 and iOS 8.0
Mobile phone configuration is not limited.

3. Instructions
Note: Android version and iOS version download and use the same method, here
in the Android version as an example.

3.1 APP Download
Scan the QR code
iOS and Android systems can download the " Magic Lantern " APP by scanning
the QR code. Open the browser or other tools with "Scan QR code" function,
scan the " Magic Lantern " QR code as below:

After the software is installed and downloaded successfully, click apk to install.
After the installation is complete, the following style of program icon will appear on

the desktop.

-10 -



iagic Lantern
M)

3.2 App Operation
(1) Click on the Magic Lantern APP icon, enter the APP page:

iagic Lantern
)

N

(2) After entering the APP interface, if Bluetooth is not enabled, "Allow Magic
Lantern to Bluetooth ?" Click [Allow]

Allow Magic Lantern to enable Bluetooth?

DENY ALLOW

Music Mic  Schedule

(3) switch to color and brightness interface:

-1 -



‘ Click to show the lamp list

‘ Switch the color wheel

i Display the RGB value
Click to manual

adiustment view

Click to shift the interface i

88 + Q- @

Style Music Mic Schedule

(4) click to show the lamp list, view lamp list:

Bluetooth auto connect

after search for devices

Lamp list |-

-12-

- ‘ Click to display setting view ‘

- ‘ Lamp switch button ‘

Adjust the color

Click square icon to

adjust the color

Status of device connection




Group Manage +

¥ My Devices

@ Ak Device disconnected

(5) Click to RGB manual adjustment view:

Chi i 30K/s O EE

-13-



(6) switch to the mode interface:

88 L=
Pattern classification . Curtain Trans Water Flc >

46 Y-C-P Flust

Slide up and down to 47 Y-C-P Flush Open

adjust the mode under 1 Auto Play
the current category 2 Magic Forward
k

Speed:0

Slide adjustment

speed - = .

(7) switch to the music rhythm interface:

ternative Ch

8| Switch playback
Previous song, Pause/Play, — @ ® —

Next song

| Music st |

Faded

Happy Birthday

Horizon

-14 -



(8) Switch to the microphone rhythm interface:

Music rhythm through cell

phone microphone

Music rhythm through the
microphone on the product

Switch phone microphone

and external microphone

Z 0
g

Music

O Phone MIC

@ Externalmic |

O]

O

Rolling

w88 >

Adjust __ Style  Music

-15-

| Switch phone microphone

and external microphone

Set different rhythm

| Change the sensitivity of
MIC to match the sound




(9) Switch to the timing interface:

‘ Set the time of Light-On

rere PO ODDODOO®

Set the time of Light-Off

B8\ > 0

Adjust __ Style Music Mic

(10) Switch to the modify pin sequence interface:

Set red light

Set green light —

Set blue light

-16 -

Timing Light-on
button

| Set the lighting cycle

Timing Light-off
button

| Set the light-off cycle




FCC Information

(Remark: Contains FCC ID: 2A49J-CB01)

CAUTION: Changes or modifications not expressly approved by the party
responsible for compliance could void the user's authority to operate the
equipment!

This device complies with Part 15 of the FCC Rules. Operation is subject to the
following two conditions:

1) This product may cause harmful interference.

2) This product must accept any interference received, including interference that
may cause undesired operation.

WARNING: Changes or modifications to this product not expressly approved by
the party. Responsible for compliance could void the user's authority to operate the
product.

Note: This product has been tested and found to comply with the limits for a Class
B digital device pursuant to Part 15 of the FCC Rules, These limits are designed to
provide reasonable protection against harmful interference in a residential
installation.

This product generates, uses and can radiate radio frequency energy, and if not
installed and used in accordance with the instructions, may cause harmful
interference to radio communications. However, there is no guarantee that
interference will not occur in a particular installation. If this product does cause
harmful interference to radio or television reception,which can be determined by
turning the product off and on, the user is encouraged to try to correct the
interference by one or more of the following measures.

- Reorient or relocate the receiving antenna.

- Increase the distance between the product and receiver.

- Connect the product to an outlet on a circuit different from that to which the
receiver is connected.

- Consult the dealer or an experienced radio/TV technician for assistance.

-17 -



CORRECT DISPOSAL

This product is subject to the provision of european Directive

2012/19/EU. The symbol showing a wheelie bin crossed through

indicates that the product requires separate refuse collection in the

European Union. This applies to the product and all accessories

marked with this symbol. Products marked as such may not be discarded with

normal domestic waste, but must be taken to a collection point for recycling

electrical and electronic devices.

Address :
Shanghai

Baoshanqu Shuangchenglu 803long 11hao 1602A-1609shi

Imported to AUS: SIHAO PTY LTD, 1 ROKEVA STREETEASTWOOD
NSW 2122 Australia

Imported to USA: Sanven Technology Ltd. Suite 250, 9166 Anaheim
Place, Rancho Cucamonga, CA 91730

UK | REP
EC |REP
Made In China

Pooledas Group Ltd
Unit 5 Albert Edward House, The Pavilions
Preston, United Kingdom

SHUNSHUN GmbH
Roémeracker 9 22021, 76351
Linkenheim-Hochstetten, Germany

-18 -



VEVOR

TOUGH TOOLS, HALF PRICE

Technical Support and E-Warranty Certificate
www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie électronique www.vevor.com/support

FOUETTES LUMIERES

MODELE : WM-3190RGB-XC-CR-1/WM-31120RGB-XC-CR-1/
WM-31150RGB-XC-CR-1/WM-3190RGB-XC-CR-TH-1/
WM-3190RGB-XC-CR-2/WM-31120RGB-XC-CR-2/
WM-31150RGB-XC-CR-2/WM-3190RGB-XC-CR-TH-2/
WM-31120RGB-XC-CR-TH-2/WM-3190RGB-XC-XH-2/
WM-31120RGB-XC-XH-2

Nous continuons a nous engager a vous fournir des outils a des prix compétitifs.

"Economisez la moiti¢", "Moitié prix" ou toute autre expression similaire que nous utilisons ne représente
qu'une estimation des économies dont vous pourriez bénéficier en achetant certains outils chez nous par
rapport aux grandes marques et ne signifie pas nécessairement couvrir toutes les catégories d'outils proposés.

par nous. Nous vous rappelons de vérifier attentivement lorsque vous passez une commande chez

nous si vous économisez réellement la moitié par rapport aux grandes marques.


https://www.vevor.com/support

Machine Translated by Google

® .
VEVOR FOUETTES LUMIERES

TOUGH TOOLS, HALF PRICE

MODELE : WM-3190RGB-XC-CR-1/WM-31120RGB-XC-CR-1/
WM-31150RGB-XC-CR-1/WM-3190RGB-XC-CR-TH-1/
WM-3190RGB-XC-CR-2/WM-31120RGB-XC-CR-2/
WM-31150RGB-XC-CR-2/WM-3190RGB-XC-CR-TH-2/
WM-31120RGB-XC-CR-TH-2/WM-3190RGB-XC-XH-2/

WM-31120RGB-XC-XH-2
. -“*\
n D%ﬁ
g \\ S et
:.-.": sz EADDNME-‘

’

<Image uniquement pour référence>

BESOIN D'AIDE? CONTACTEZ-NOUS!

Vous avez des questions sur les produits ? Besoin d'une assistance technique ? N'hésitez pas a
nous contacter:

Assistance technique et certificat de garantie électronique
www.vevor.com/support

Il s'agit des instructions originales, veuillez lire attentivement toutes les instructions du

manuel avant de I'utiliser. VEVOR se réserve une interprétation claire de notre manuel d’utilisation.
L'apparence du produit dépend du produit que vous avez regu. Veuillez nous pardonner que

nous ne vous informerons plus s'il y a des mises a jour technologiques ou logicielles sur notre produit.



Machine Translated by Google

GARANTIES IMPORTANTES

AVERTISSEMENT : Lisez et comprenez l'intégralité de ce manuel avant

utiliser ou entretenir ce produit. Le non-respect de ces

les avertissements et les instructions peuvent provoquer des blessures ou

dommages a des biens de valeur.
Evitez que les enfants n'utilisent une lampe fouet. Et ce produit n'est pas un jouet. Ne pas
permettre aux enfants de jouer
avec. Tenir a I'écart des pointes tranchantes, des lames et autres objets.
1.Assemblez uniquement selon ces instructions. Un assemblage incorrect peut
créer des dangers.
2. Gardez la zone de montage propre et bien éclairée.
3. Ne vous rassemblez pas lorsque vous étes fatigué ou sous l'influence de I'alcool, de
drogues ou de médicaments.
4. Les capacités du produit s'appliquent au produit correctement et complétement assemblé
seulement.
5. Pour plus d'informations concernant les pieces répertoriées dans ce qui suit
pages, veuillez vous référer au schéma d’assemblage de ce manuel. Déballez et

séparez toutes les piéces dans une zone de travail propre. Veuillez conserver les petites piéces de rechange hors de

portée des enfants.

CONSERVEZ CES INSTRUCTIONS



Machine Translated by Google

SPECIFICATIONS DU PRODUIT

- L1 B
o= 3l Y e e e LA S e e e S
o1} T1¢ 1] ST
L2

Modéle L1 D1 L2 ™

(mm) (mm) (mm) (mm)

WM-3190RGB-XC-CR-1 920 31 70 M12*30
WM-31120RGB-XC-CR-1 1230 31 70 M12*30
WM-31150RGB-XC-CR-1 1530 31 70 M12*30
WM-3190RGB-XC-CR-TH-1 1005 43 158 M12*30
WM-3190RGB-XC-CR-2 920 31 70 M12*30
WM-31120RGB-XC-CR-2 1230 31 70 M12*30
WM-31150RGB-XC-CR-2 1530 31 70 M12*30
WM-3190RGB-XC-CR-TH-2 1005 43 158 M12*30
WM-31120RGB-XC-CR-TH-2 1320 43 158 M12*30
WM-3190RGB-XC-XH-2 930 31 70 M12*30
WM-31120RGB-XC-XH-2 1230 31 70 M12*30




Machine Translated by Google

LE FORFAIT COMPREND

Modéle / QTE
WM-3 WM-3 WM-3 WM-3
WM-3 WM-3
. - 190R 1120R 1150R 190R
Pas de photo désactivée 190RG 1120R
GB-X GB-X GB-X GB-X
B-XC- GB-XC
C-CR- C-CR- C-CR- C-CR-
CR-2 -CR-2
1 1 1 TH-1
T el = 1 1 1 2 2
lumieres
(398 < |
2 rapoats 2 ‘ 2 2 2 2 4 4
Vis
3 2 2 2 2 4 4
(M4*15)
4 égrous M4 2 2 2 2 4 4
5 cale 2 2 2 2 4 4
poussiére
6 1 1 1 1 2 2
7 Grand 2 2 2 5 4 4
crochet
petit
8 2 2 2 2 4 4
crochet
22
9 1 1 1 1 2 2
cerceau
20
dix 1 1 1 1 2 2
cerceau
télécommande
11 1 1 1 1 1 1
contréle
12 manuel 1 1 1 1 1 1
13 Printemps 1
base




Machine Translated by Google

Modeéle / QTE
WM-31 WM-31 WM-31 WM-31 WM-31
Pas de photo désadtivée 150RG 90RVB- 120RG 90RVB- 120RG
B-XC-C XC-CR- B-XC-C XC-XH- B-XC-X
R-2 TH-2 R-TH-2 2 H-2
fouet
1 oue = 2 2 2 2 2
lumiéres
TN
2 drapeau f 4 4 4 4 4
Vis
3 i 4 4 4 4 4
(M4*15) —
4 éctous M4 O 4 4 4 4 4
5 cale @ 4 4 4 4 4
6 connanonses | OO 2 2 2 2 2
7 Grps crochet 4 4 4 4 4
petit
8 4 4 4 4 4
crochet
22
9 2 2 2
cerceau
20
dix 2 2 2
cerceau
16
11 - - - 4 4
cerceau
12 - 1 1 1 1 1
controle
13 manuel : | 1 1 1 1 1
14 Printemps . _ 2 5
base




Machine Translated by Google

INSTRUCTIONS D'INSTALLATION

Etape 1 : Soulevez I'anneau.

Etape 2 : serrez la base de votre

support sur le véhicule.

%

Etape 3 : Connectez tous les fils a i
Etape 4 : Connectez-vous a la batterie
postes correspondants.
] . . Fil, connectez le fil rouge au
Remarque : Veuillez noter que les instructions de
pole positif et le fil noir a
les fleches de part et d'autre du cablage
le pole négatif.
doit correspondre.

Etape 5 : L'installation est terminée.

Veuillez tester si la lumiere fonctionne

Lad

.
" DONT TREADONME
e =

normalement.




Machine Translated by Google

MODE D'EMPLOI

Il existe deux méthodes de fonctionnement : I'une via une télécommande et I'autre via l'application

Magic Lantern. Les modes opératoires spécifiques aux deux méthodes sont expliqués ci-dessous.

Description de la télécommande :

Mode automatique

—Allumer/Veille
Arrét — AUTO
— Vitesse dynamiqueA
L)
Luminosité ',~
Mode
Couleur statique @ @ ‘:
ajustement ‘ '
Horaire __@ @ @_ Fonction de
fonction synchronisation
Fermé a clé — @—— Ouvrir
O @ O Mode scéne




Machine Translated by Google

Manuel d'utilisation de la télécommande : 1.

Utilisation de la télécommande ;

Veuillez retirer le ruban isolant de la batterie avant utilisation. Le signal a distance 2,4 G peut
traverser la barriére, il n'est donc pas nécessaire de viser I'unité principale lors du fonctionnement.
2. Couplage d'une nouvelle télécommandeLa télécommande et I'unité principale sont couplées 1 a 1 par défaut.
De plus, I'unité principale peut étre couplée a 3 télécommandes et chaque télécommande peut étre couplée a
n'importe quelle unité principale.

3. Mode de couplage a distance gratuit ;

Dans certains cas spécifiques, I'unité principale peut devoir étre couplée a des télécommandes. Veuillez suivre
les étapes suivantes pour obtenir le mode d'appairage a distance gratuit : Débranchez I'alimentation de l'unité
principale et branchez-la aprés quelques secondes.

4. Séquence de couleurs de sortie du

commutateur ; La séquence de signal de sortie par défaut du contréleur 1sCommon-Green-Red-Blue. Si
I'application LED est dans une séquence de cables différente, les touches de couleur directes ne correspondront
pas a la couleur de la LED. Dans ce cas, |'utilisateur peut ajuster la séquence du signal de sortie.

Remarque : Le courant de sortie maximal est de 4 amperes et le courant constant maximum est de 2 ampéres
par canal. Veuillez réduire la charge si l'unité principale surchauffe. ATTENTION Ne court-circuitez pas et ne

surchargez pas les sorties LED, cela pourrait entrainer des dommages permanents !

Appuyez sur ou entrez en état de veille

Pause

Mode automatique (21 cycles de mode dynamique

La vitesse/sensibilité augmente/diminue

par défaut)

Changement de mode

:.~ X La luminosité augmente/diminue

@ @ . .@ Changez la couleur de la lumiére
sur : rouge/vert/bleu/jaune/cyan/violet/blanc.




Machine Translated by Google

@ @ Eteignez régulierement les lumiéres pendant 1 heure/2
heure
@ Verrouillé/Déverrovuillé
Selon le programme défini, affichage du flux de couleur
O @ O Switch est respectivement : le modéle
flocon de neige/romantique/ciel étoilé

Remarque : Ajustez la luminosité, lorsque la vitesse est grande, le voyant clignote pour indiquer qu'il a été réglé a I'état

maximum ou minimum.

Manuel d'utilisation de I'application Magic Lantern :

1.1 Apergu

La Lanterne Magique est une application mobile qui contrdle la ceinture de lampes LED via un téléphone mobile Apple ou
Android.

Les méthodes de contrdle traditionnelles telles que l'infrarouge, 433 MHz, 2,4 GHz et d'autres anciennes méthodes
filaires seront remplacées par des méthodes de controle par téléphone mobile dotées de fonctionnalités pratiques,
puissantes et évolutives.

Grace a l'application mobile, vous pouvez contréler facilement et rapidement la couleur, la luminosité et la température
de couleur de la ceinture lumineuse LED. Vous pouvez également définir différents modes de clignotement et faire
bouger la ceinture lumineuse LED au rythme de la musique. Gardez simplement la bande lumineuse LED allumée,
allumez le logiciel de contrdle intelligent de I'application de lampe Magic Lotus du téléphone portable, connectez

un ou plusieurs contrdleurs de bande lumineuse LED via Bluetooth, afin de réaliser divers parametres et

controles de plusieurs bandes lumineuses LED. Le fonctionnement est trés simple, facile a apprendre et a utiliser.

1.2 Caractéristiques
Ajustez les bandes LED de couleur avec 60 000 couleurs pour changer la couleur et la luminosité et ajustez les bandes
LED monochromes pour changer la luminosité et la température de couleur ~ Ecoutez de la musique mobile ou
allumez un appareil de lecture sonore, vous pouvez laisser la lumiére

changez la couleur et la luminosité au rythme de la musique, le rythme de la musique est magnifique

Mode de réglage multiple a I'intérieur pour le changement de couleur et le contréle des bandes LED sans

mobile




Machine Translated by Google

Contréle longue distance avec antenne omnidirectionnelle et groupe plusieurs a plusieurs
mode de contrble
Connexion automatique rapide et facile
1.3 Performances

L'application Magic Lantern est facile a utiliser et compatible. Les tests réels et

la vérification de centaines de téléphones mobiles est compatible avec le marché actuel.

La plupart des smartphones. L'APP est petite et pratique, elle consomme moins de systéme

ressources, les exigences de la configuration mobile sont donc faibles. Délai de controle

est petit, 'opération est agréable, le contrdle de la lumiére est fluide avec le visuel des gens

sens.

2. Environnement opérationnel
Ce programme APP nécessite des téléphones d'un systéme supérieur a Andriod 4.3 et iOS 8.0
La configuration du téléphone mobile n'est pas limitée.
3. Consignes
Remarque : téléchargez la version Android et la version iOS et utilisez la méme méthode, ici
dans la version Android a titre d'exemple.
3.1 Téléchargement de I'application
Scannez le code QR
Les systémes iOS et Android peuvent télécharger I'application « Magic Lantern » en scannant
le code QR. Ouvrez le navigateur ou d'autres outils avec la fonction "Scanner le code QR", scannez

le code QR "Magic Lantern" comme ci-dessous :

Une fois le logiciel installé et téléchargé avec succes, cliquez sur apk pour l'installer.
Une fois l'installation terminée, le style d'icone de programme suivant apparaitra sur

le bureau.

- dix -



Machine Translated by Google

tMagic Lantern

i

3.2 Fonctionnement de I'application

(1) Cliquez sur I' icone de I'application Magic Lantern , entrez dans la page de I'application :

tMagic Lantern

W
|

(2) Aprés avoir accédé a l'interface APP, si Bluetooth n'est pas activé, "Autoriser Magic

Lanterne vers Bluetooth ?" Cliquez sur [Autoriser]

Allow Magic Lantern to enable Bluetooth?

DENY ALLOW

Music Mic  Schedule

(3) passer a l'interface de couleur et de luminosité :

-11 -



Machine Translated by Google

‘ Click to show the lamp list }

‘ Switch the color wheel }

i Display the RGB value
Click to manual

adiustment view

Click to shift the interface

(4) cliquez pour afficher la liste des lampes, afficher la liste des lampes :

Bluetooth auto connect

after search for devices Group Manage +

G¥ My Devices

<

-12-

’ Click to display setting view ‘

‘ Lamp switch button

Adjust the color

Click square icon to

adjust the color

Status of device connection




Machine Translated by Google

Group Manage +

¢ My Devices

) N Device disconnected

(5) Cliquez sur la vue de réglage manuel RVB :

-13-



Machine Translated by Google

6 passer a l'interface de mode :

o
Pattern classification

Curtain Trans Water Flc >

46 Y » Flush Cli

Slide up and down to 47 Y-C-P Flush Open
adjust the mode under | | 1 Auto Play

the current category 2 Magic Forward

agic Back

Slide adjustment
speed

Adjust

7 passer a l'interface de rythme musical :

ternative Ct

s Switch playback
® @ ® mode

Previous song, Pause/Play,

Next song

Alternative Christmas

nd Christmas

Faded

Happy Birthday

Horizon

-14 -



Machine Translated by Google

8 Passez a l'interface rythmique du microphone :

Music rhythm through cell
phone microphone

o

(® Phone MIC

QO External MiC

RITITIA

og
oo
Style

Music rhythm through the
microphone on the product

P

Music

O Phone MIiC

@® External MIC

e

4

2 S
Uy, N
i

$14 oo
Tet oo

© O ®
@) O (@,

Rhythm  Spectrum  Rolling

.

Adjust___ Style _ Music

-15-

Switch phone microphone

and external microphone

| Switch phone microphone

and external microphone

Set different rhythm

| Change the sensitivity of
MIC to match the sound




Machine Translated by Google

9 Passer a l'interface de synchronisation :

Set the time of Light-On

Set the time of Light-Off

10 Basculez vers l'interface de modification de la séquence de broches :

Set red light

Set green light

Set blue light

Schedule Off

Time

a X X X X X X B

Adjust __ Style

- 16 -

Timing Light-on
button

Set the lighting cycle

Timing Light-off
button

Set the light-off cycle




Machine Translated by Google

Informations FCC

(Remarque : contient I''D FCC : 2A49J-CB01)

ATTENTION : Changements ou modifications non expressément approuvés par la partie
responsable de la conformité pourrait annuler le droit de I'utilisateur a utiliser le

équipement!

Cet appareil est conforme a la partie 15 des régles FCC. L'exploitation est soumise aux

suivant deux conditions :

1) Ce produit peut provoquer des interférences nuisibles.

2) Ce produit doit accepter toute interférence regue, y compris les interférences qui

peut provoquer un fonctionnement indésirable.

AVERTISSEMENT : changements ou modifications apportés a ce produit non expressément approuvés par
la féte. Le responsable de la conformité pourrait annuler le droit de I'utilisateur a utiliser le

produit.

Remarque : Ce produit a été testé et jugé conforme aux limites d'une classe

Appareil numérique B conformément a la partie 15 des régles de la FCC. Ces limites sont congues pour
fournir une protection raisonnable contre les interférences nuisibles dans un environnement résidentiel
installation.

Ce produit génére, utilise et peut émettre de I'énergie radiofréquence, et sinon

installé et utilisé conformément aux instructions, peut causer des dommages

interférence avec les communications radio. Cependant, rien ne garantit que

aucune interférence ne se produira dans une installation particuliére. Si ce produit provoque
interférences nuisibles a la réception radio ou télévision, qui peuvent étre déterminées par

en éteignant et en allumant le produit, I'utilisateur est encouragé a essayer de corriger le
interférence par une ou plusieurs des mesures suivantes.

- Réorientez ou déplacez I'antenne de réception.

- Augmentez la distance entre le produit et le récepteur.

- Connectez le produit a une prise sur un circuit différent de celui auquel le

le récepteur est connecté.

- Consultez le revendeur ou un technicien radio/TV expérimenté pour obtenir de l'aide.

-17 -



Machine Translated by Google

ELIMINATION CORRECTE

Ce produit est soumis aux dispositions de la directive européenne 2012/19/

UE. Le symbole représentant une poubelle barrée indique que le produit nécessite

P une collecte sélective des déchets dans I'Union européenne. Ceci s'applique au

produit et a tous les accessoires

marqué de ce symbole. Les produits marqués comme tels ne peuvent pas étre jetés avec les

ordures ménageéres normales, mais doivent étre déposés dans un point de collecte pour étre recyclés.

appareils électriques et électroniques.

Adresse : Baoshanqu Shuangchenglu 803long 11hao 1602A-1609shi Shanghai Importé en

Australie :

SIHAO PTY LTD, 1 ROKEVA STREETESTWOOD NSW 2122 Australie Importé aux

Etats-Unis : Sanven

Technology Ltd. Suite 250, 9166 Anaheim Place, Rancho Cucamonga, CA 91730

REPRESENTAN] DU ROYAUME-UNI

REPRESENJANT CE

Fabriqué en Chine

Groupe Pooledas Ltd
Unité 5 Maison Albert Edward, Les Pavillons

Preston, Royaume-Uni

SHUNSHUN GmbH
Romeracker 9 22021, 76351

Linkenheim-Hochstetten, Allemagne

-18 -



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Assistance technique et certificat de garantie

électronique www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technischer Support und E-Garantiezertifikat www.vevor.com/support

Peitschenlichter

MODELL: WM-3190RGB-XC-CR-1/WM-31120RGB-XC-CR-1/
WM-31150RGB-XC-CR-1/WM-3190RGB-XC-CR-TH-1/
WM-3190RGB-XC-CR-2/WM-31120RGB-XC-CR-2/
WM-31150RGB-XC-CR-2/WM-3190RGB-XC-CR-TH-2/
WM-31120RGB-XC-CR-TH-2/WM-3190RGB-XC-XH-2/
WM-31120RGB-XC-XH-2

Wir sind weiterhin bestrebt, Ihnen Werkzeuge zu wettbewerbsfahigen Preisen anzubieten.
+Sparen Sie die Halfte*, ,Halber Preis" oder andere ahnliche von uns verwendete Ausdriicke stellen lediglich
eine Schatzung der Einsparungen dar, die Sie durch den Kauf bestimmter Werkzeuge bei uns im Vergleich zu den
groRBen Top-Marken erzielen konnten, und bedeuten nicht unbedingt, dass alle angebotenen Werkzeugkategorien
abgedeckt werden von uns. Bitte priifen Sie bei lhrer Bestellung sorgféltig, ob Sie im Vergleich zu den Top-
Marken tatsachlich die Halfte sparen.


https://www.vevor.com/support

Machine Translated by Google

VEVOR® Peitschenlichter

TOUGH TOOLS, HALF PRICE

MODELL: WM-3190RGB-XC-CR-1/WM-31120RGB-XC-CR-1/
WM-31150RGB-XC-CR-1/WM-3190RGB-XC-CR-TH-1/
WM-3190RGB-XC-CR-2/WM-31120RGB-XC-CR-2/
WM-31150RGB-XC-CR-2/WM-3190RGB-XC-CR-TH-2/
WM-31120RGB-XC-CR-TH-2/WM-3190RGB-XC-XH-2/
WM-31120RGB-XC-XH-2

-

" DONT fREADON ME
LSS i

’

<Bild nur als Referenz >

BRAUCHEN SIE HILFE? KONTAKTIERE UNS!

Haben Sie Fragen zum Produkt? Bendtigen Sie technische Unterstiitzung? Sie kdnnen uns
gerne kontaktieren:

Technischer Support und E-Garantiezertifikat
www.vevor.com/support

Dies ist die Originalanleitung. Bitte lesen Sie alle Bedienungsanleitungen sorgfaltig durch,

bevor Sie das Gerat in Betrieb nehmen. VEVOR behélt sich eine klare Auslegung unserer
Bedienungsanleitung vor. Das Aussehen des Produkts hangt von dem Produkt ab, das Sie
erhalten haben. Bitte entschuldigen Sie, dass wir Sie nicht erneut informieren, wenn es zu unserem
Produkt technische oder Software-Updates gibt.



Machine Translated by Google

WICHTIGE SICHERHEITSMASSNAHMEN

WARNUNG: Lesen und verstehen Sie vorher dieses gesamte Handbuch

Bedienung oder Wartung dieses Produkts. Nichtbeachtung dieser

Warnungen und Anweisungen kdnnen zu Verletzungen oder Verletzungen fihren

Schaden an wertvollem Eigentum. §
Vermeiden Sie, dass Kinder Peitschenlicht verwenden. Und dieses Produkt ist kein Spielzeug. Nicht
damit Kinder damit spielen kdnnen. y
Von scharfen Spitzen, Klingen und anderen Gegenstanden fernhalten.
1.Montage nur gemaR dieser Anleitung. Eine unsachgeméafe Montage kann
Gefahren schaffen.
2. Halten Sie den Montagebereich sauber und gut beleuchtet.
3. Bauen Sie das Gerat nicht auf, wenn Sie mude sind oder unter dem Einfluss von Alkohol, Drogen
oder Medikamenten stehen.
4. Die Produkteigenschaften gelten fur ordnungsgeman und vollstdndig montierte Produkte
nur.
5. Weitere Informationen zu den im Folgenden aufgefiihrten Teilen
Weitere Informationen finden Sie im Montagediagramm dieses Handbuchs. Auspacken und
Trennen Sie alle Teile in einem sauberen Arbeitsbereich. Bitte bewahren Sie kleine Ersatzteile fern

Kinderreichweite.

ANLEITUNG AUFBEWAHREN



Machine Translated by Google

PRODUKTSPEZIFIKATIONEN

L1

Modell L1 D1 L2 T1
(mm) (mm) (mm) (mm)

WM-3190RGB-XC-CR-1 920 31 70 M12*30
WM-31120RGB-XC-CR-1 1230 31 70 M12*30
WM-31150RGB-XC-CR-1 1530 31 70 M12*30
WM-3190RGB-XC-CR-TH-1 1005 43 158 M12*30
WM-3190RGB-XC-CR-2 920 31 70 M12*30
WM-31120RGB-XC-CR-2 1230 31 70 M12*30
WM-31150RGB-XC-CR-2 1530 31 70 M12*30
WM-3190RGB-XC-CR-TH-2 1005 43 158 M12*30
WM-31120RGB-XC-CR-TH-2 1320 43 158 M12*30
WM-3190RGB-XC-XH-2 930 31 70 M12*30
WM-31120RGB-XC-XH-2 1230 31 70 M12*30




Machine Translated by Google

PAKET ENTHALTEN

Modell / Menge
WM-3 WM-3 WM-3 WM-3
WM-3 WM-3
. 190R 1120R 1150R 190R
Kein|Bild aus 190RG 1120R
GB-X GB-X GB-X GB-X
B-XC- GB-XC
C-CR- C-CR- C-CR- C-CR-
CR-2 -CR-2
1 1 1 TH-1
Peitsche
1 - 1 1 1 1 2 2
Beleuchtung
(398 < |
L""a”"
2 Flagge ‘ 2 2 2 2 4 4
Schrauben
3 2 2 2 2 4 4
(M4*15) -
4 M4-Muttern 2 2 2 2 4 4
5 2 2 2 2 4 4
Staub
6 1 1 1 1 2 2
Deckel
Gro3
7 © 2 2 2 2 4 4
Haken
klein
8 2 2 2 2 4 4
Haken
y 22
9 1 1 1 1 2 2
Band
y 20
10 1 1 1 1 2 2
Band
Fernbedienung
11 1 1 1 1 1 1
Kontrolle
12 Handbuch 1 1 1 1 1 1
Frihlin
13 9 1
Base




Machine Translated by Google

Modell / Menge
WM-31 WM-31 WM-31 WM-31 WM-31
Kein Bild aus 150RG 90RGB- 120RG 90RGB- 120RG
B-XC-C XC-CR- B-XC-C XC-XH- B-XC-X
R-2 TH-2 R-TH-2 2 H-2
Peitsche
1 , 2 2 2 2 2
Beleuchtung
”g_\
2 Flagge P s 4 4 4 4 4
Schrauben
3 4 4 4 4 4
(M4*15)
4 M4-Muttern 4 4 4 4 4
5 4 4 4 4 4
6 Staubschutzkappe 2 2 2 2 2
7 GrpRer Haken 4 4 4 4 4
klein
8 4 4 4 4 4
Haken
y 22
9 2 2 2
Band
y 20
10 2 2 2
Band
y 16
11 - - - 4 4
Band
Fi ing
12 1 1 1 1 1
Kontrolle
13 Handbuch 1 1 1 1 1
14 Fruhling _ 5 )
Base




Machine Translated by Google

INSTALLATIONSANLEITUNG

Schritt 1: Heben Sie den Ring an.

Schritt 2: Ziehen Sie die Basis fest

Halterung am Fahrzeug.

~%

Schritt 3: Schlief3en Sie alle Dréhte an

entsprechende Positionen.

Hinweis: Bitte beachten Sie, dass die Anweisungen von
die Pfeile auf beiden Seiten der Verkabelung

muss Ubereinstimmen.

Schritt 4: An die Batterie anschlie3en
Kabel, verbinden Sie das rote Kabel mit dem
Pluspol und das schwarze Kabel an

der Minuspol.

ADON ME
—a

W& DONT

A

Schritt 5: Die Installation ist abgeschlossen.
Bitte testen Sie, ob das Licht funktioniert

normalerweise.




Machine Translated by Google

BEDIENUNGSANLEITUNG

Es gibt zwei Bedienmethoden: eine lber eine Fernbedienung und die andere Uber die Magic Lantern-App. Die

spezifischen Betriebsweisen fiir beide Methoden werden im Folgenden erlautert.

Beschreibung der Fernbedienung:

Automatischer Modus

Einschalten/Standby
Stoppen —_— AUTO
Dynamische GeschwindigkeitA

Helligkeit @

Modus

Statische Farbe

Einstellung ‘ '

1 JH = Timing-

Funktion Funktion

Gesperrt _ @__ Freischalten
O @ O Szenenmodus




Machine Translated by Google

Bedienungsanleitung der Fernbedienung: 1.

Verwendung der Fernbedienung;

Bitte ziehen Sie vor der Verwendung das Isolierband der Batterie ab. Das 2,4-G-Fernsignal
kann Barrieren durchdringen, daher ist es nicht erforderlich, beim Betrieb auf das Hauptgerat zu zielen
2. Neue Fernbedienung koppeln Die Fernbedienung und das Hauptgerat sind standardmagig 1 zu 1 gekoppelt.
Darliber hinaus kann das Hauptgerat mit drei Fernbedienungen gekoppelt werden, und jede Fernbedienung kann
mit jedem Hauptgerat gekoppelt werden.

3. Kostenloser Remote-Pairing-Modus; In

bestimmten Féllen muss das Hauptgeréat moglicherweise mit Fernbedienungen gekoppelt werden. Bitte fiihren
Sie die folgenden Schritte fir den kostenlosen Remote-Pairing-Modus aus: Trennen Sie das Hauptgerat vom
Stromnetz und schlieen Sie es nach einigen Sekunden wieder an.

4. Ausgabefarbsequenz wechseln; Die Standard-

Ausgangssignalsequenz des Controllers ist 1lsCommon-Green-Red-Blue. Wenn sich die LED-Anwendung in einer
anderen Kabelreihenfolge befindet, stimmen die direkten Farbtasten nicht mit der LED-Farbe Uberein. In diesem
Fall kann der Benutzer die Ausgangssignalsequenz anpassen.

Hinweis: Der Spitzenausgangsstrom betréagt 4 Ampere und der maximale Konstantstrom betrégt 2 Ampere pro
Kanal. Bitte reduzieren Sie die Last, wenn das Hauptgerat Gberhitzt. VORSICHT Die LED-Ausgange nicht

kurzschlieRen oder Uiberlasten, dies kann zu dauerhaften Schaden fiihren!

Driicken Sie auf oder wechseln Sie in den Standby-Zustand

Pause

Automatikmodus (21 standardméfige dynamische

Geschwindigkeit/Empfindlichkeit nimmt zu/ab

Moduszyklen)

Modusumschaltung

:.: . Helligkeit erhoht/verringert sich

@ @ . . @ Schalten Sie die Lichtfarbe um
auf: Rot/Griin/Blau/Gelb/Cyan/Lila/Weil3




Machine Translated by Google

@ @E} Schalten Sie das Licht regelmaBig fur 1 Stunde/2 aus
Stunde

@ Gesperrt/entsperrt

Je nach Programm stellen Sie die Farbflussanzeige ein

O @ O Der Wechsel ist jeweils: das
Schneeflocken-/Romantik-/Sternenhimmel-Modell

Hinweis: Passen Sie die Helligkeit an. Wenn die Geschwindigkeit groB ist, blinkt das Licht, um anzuzeigen, dass es auf den

maximalen oder minimalen Zustand eingestellt wurde.

Bedienungsanleitung der Magic Lantern APP:
1.1 Ubersicht

Die Magic Lantern ist eine mobile App, die den LED-Lampengiirtel (iber ein Apple- oder Android-Handy steuert.

Die herkémmlichen Steuerungsmethoden wie Infrarot, 433 MHz, 2,4 GHz und andere alte kabelgebundene Methoden werden

durch die Steuerung tiber Mobiltelefone mit praktischen, leistungsstarken und skalierbaren Funktionen ersetzt.

Uber die mobile App kénnen Sie Farbe, Helligkeit und Farbtemperatur des LED-Lichtgiirtels einfach und schnell steuern.
AuRerdem konnen Sie verschiedene Blinkmodi einstellen und das LED-Lichtband im Musikrhythmus bewegen. Lassen

Sie einfach das LED-Lichtband eingeschaltet, schalten Sie die intelligente Steuerungssoftware der Magic Lotus-Lampen-App
fur Ihr Mobiltelefon ein und verbinden Sie einen oder mehrere LED-Lichtband-Controller tiber Bluetooth, um verschiedene
Einstellungen und die Steuerung mehrerer LED-Lichtb&nder zu realisieren. Die Bedienung ist sehr einfach, leicht zu

erlernen und anzuwenden.

1.2 Funktionen
y Passen Sie farbige LED-Streifen mit 60.000 Farben an, um Farbe und Helligkeit zu &ndern, und passen Sie monochrome
LED-Streifen an, um Helligkeit und Farbtemperatur zu &ndern. y Spielen Sie mobile Musik ab oder schalten Sie ein
Tonwiedergabegerat ein, Sie kdnnen das Licht lassen

Andern Sie die Farbe und Helligkeit mit dem Rhythmus der Musik, der Musikrhythmus ist wunderschén

y Innen mehrere Einstellungsmodus fiir Farbwechsel und Steuerung von LED-Streifen ohne

Handy, Mobiltelefon



Machine Translated by Google

y Fernsteuerung mit omnidirektionaler Antenne und Many-to-Many-Gruppe
Steuermodus

y Schnelle und einfache automatische Verbindung

1.3 Leistung
Die Magic Lantern APP ist einfach zu bedienen und kompatibel. Die eigentliche Prufung und
Die Uberpriifung von Hunderten von Mobiltelefonen ist mit dem aktuellen Markt kompatibel.
Die meisten Smartphones. Die APP ist klein und praktisch und verbraucht weniger System
Ressourcen, sodass die Anforderungen an die mobile Konfiguration gering sind. Steuerverzogerung
ist klein, die Bedienung fiihlt sich gut an, die Lichtsteuerung ist reibungslos und passt sich der Sicht der Menschen an

Sinn.

2. Betriebsumgebung

Fir dieses APP-Programm sind Telefone mit einem System tiber Andriod 4.3 und iOS 8.0 erforderlich
Die Mobiltelefonkonfiguration ist nicht begrenzt.
3. Anweisungen
Hinweis: Die Android-Version und die iOS-Version laden hier die gleiche Methode herunter und verwenden sie
in der Android-Version als Beispiel.
3.1 APP-Download
Scannen Sie den QR-Code
iOS- und Android-Systeme konnen die APP ,Magic Lantern" durch Scannen herunterladen
der QR-Code. Offnen Sie den Browser oder ein anderes Tool mit der Funktion ,QR-Code scannen®

und scannen Sie den QR-Code ,Magic Lantern“ wie folgt:

Nachdem die Software erfolgreich installiert und heruntergeladen wurde, klicken Sie zum Installieren auf APK.
Nach Abschluss der Installation wird das folgende Programmsymbol angezeigt

der Desktop.

-10 -



Machine Translated by Google

tMagic Lantern

i

3.2 App-Bedienung

(1) Klicken Sie auf das Magic Lantern APP-Symbol und rufen Sie die APP-Seite auf:

tMagic Lantern

W
|

(2) Wenn nach dem Aufrufen der APP-Schnittstelle Bluetooth nicht aktiviert ist, klicken Sie auf ,Magie zulassen*.

Laterne zu Bluetooth ?" Klicken Sie auf [Zulassen]

Allow Magic Lantern to enable Bluetooth?

DENY ALLOW

Music Mic  Schedule

(3) Wechseln Sie zur Farb- und Helligkeitsschnittstelle:

-11 -



Machine Translated by Google

‘ Click to show the lamp list }

’ Click to display setting view ‘
‘ Switch the color wheel }

‘ Lamp switch button

Adjust the color

i Display the RGB value
Click to manual

adiustment view

Click square icon to

adjust the color

Click to shift the interface

(4) Klicken Sie, um die Lampenliste anzuzeigen, und zeigen Sie die Lampenliste an:

L ] ]
Bluetooth auto connect =

after search for devices

Group Manage +

@Y MyDevices ¢ Q
Lamp list |— — @

4

Status of device connection

-12 -



Machine Translated by Google

Group Manage +

@¢ MyDevices

\ -}

¥ o> SR Device disconnected

Y5y Klicken Sie, um die manuelle RGB-Anpassungsansicht anzuzeigen:

-13-



Machine Translated by Google

(6) Wechseln Sie zur Modusschnittstelle:

Pattern classification

Slide up and down to
adjust the mode under
the current category

Slide adjustment
speed

L

Curtain Trans Water Flc >

47 Y-C-P Flush Open
1 Auto Play

2 Magic Forward

agic Back

Adjust

(7) Wechseln Sie zur Musikrhythmus-Schnittstelle:

Previous song, Pause/Play,

Next song

ternative Ct

® ® ®

Alternative Christmas

nd Christmas

Faded

Happy Birthday

Horizon

-14 -

Switch playback
mode




Machine Translated by Google

(8) Wechseln Sie zur Mikrofon-Rhythmus-Schnittstelle:

Music rhythm through cell
phone microphone

o

(® Phone MIC

QO External MiC

RITITIA

og
oo
Style

Music rhythm through the
microphone on the product

P

Music

O Phone MIiC

@® External MIC

e

4

2 S
Uy, N
i

$14 oo
Tet oo

© O ®
@) O (@,

Rhythm  Spectrum  Rolling

.

Adjust___ Style _ Music

-15 -

Switch phone microphone

and external microphone

| Switch phone microphone

and external microphone

Set different rhythm

| Change the sensitivity of
MIC to match the sound




Machine Translated by Google

(9) Wechseln Sie zur Timing-Schnittstelle:

Timing Light-on
button

Set the time of Light-On

- 000000 ®

Set the lighting cycle

Timing Light-off
ule Off @ - button

Set the time of Light-Off

g X X X X X N B Set the light-off cycle

(10) Wechseln Sie zur Schnittstelle zum Andern der Pin-Sequenz:

Set red light

Set green light

Set blue light

-16 -



Machine Translated by Google

FCC-Informationen

(Anmerkung: Enthéalt FCC-ID: 2A49J-CB01)

ACHTUNG: Anderungen oder Modifikationen, die nicht ausdriicklich von der Partei genehmigt wurden
Verantwortlich fur die Einhaltung kann die Berechtigung des Benutzers zum Betrieb des Gerats erléschen
Ausriistung!

Dieses Gerat entspricht Teil 15 der FCC-Bestimmungen. Der Betrieb unterliegt der

folgende zwei Bedingungen:

1) Dieses Produkt kann schadliche Stérungen verursachen.

2) Dieses Produkt muss alle empfangenen Stérungen akzeptieren, einschlie3lich Stérungen, die auftreten
kann zu unerwiinschtem Betrieb fuhren.

WARNUNG: Anderungen oder Modifikationen an diesem Produkt sind nicht ausdriicklich von genehmigt
die Party. Verantwortlich fur die Einhaltung kann die Berechtigung des Benutzers zum Betrieb des Geréts erléschen
Produkt.

Hinweis: Dieses Produkt wurde getestet und entspricht den Grenzwerten einer Klasse

B digitales Gerat gemaf Teil 15 der FCC-Bestimmungen. Diese Grenzwerte dienen dazu

einen angemessenen Schutz vor schadlichen Stérungen in einem Wohngebiet bieten

Installation.

Dieses Produkt erzeugt und nutzt Hochfrequenzenergie und kann diese ausstrahlen

Installation und Verwendung gemaf den Anweisungen kénnen schadlich sein

Storungen der Funkkommunikation. Eine Garantie dafir gibt es jedoch nicht

In einer bestimmten Installation treten keine Stérungen auf. Wenn dieses Produkt verursacht

schéadliche Stérungen des Radio- oder Fernsehempfangs, die durch festgestellt werden kdnnen

Beim Aus- und Einschalten des Produkts wird der Benutzer aufgefordert, zu versuchen, das Problem zu beheben
Beeintréchtigung durch eine oder mehrere der folgenden MaRnahmen.

- Richten Sie die Empfangsantenne neu aus oder versetzen Sie sie.

- Erhéhen Sie den Abstand zwischen Produkt und Empféanger.

- SchlieBen Sie das Produkt an eine Steckdose an, die zu einem anderen Stromkreis gehort als dem, an den das Produkt angeschlossen ist

Empfanger angeschlossen ist.

- Wenden Sie sich fur Hilfe an den Handler oder einen erfahrenen Radio-/TV-Techniker.

-17 -



Machine Translated by Google

RICHTIGE ENTSORGUNG

Dieses Produkt unterliegt den Bestimmungen der europaischen Richtlinie
2012/19/EU. Das Symbol einer durchgestrichenen Mlltonne weist darauf hin,
dass das Produkt in der Europaischen Union einer getrennten Millsammlung bedarf.
| P ’ ’
Dies gilt fur das Produkt und samtliches Zubehor
mit diesem Symbol gekennzeichnet. Als solche gekennzeichnete Produkte diirfen nicht tiber den normalen

Hausmiill entsorgt werden, sondern mussen zur Wiederverwertung an einer Sammelstelle abgegeben werden

elektrische und elektronische Geréte.

Adresse : Baoshanqu Shuangchenglu 803long 11hao 1602A-1609shi Shanghai Importiert
nach AUS:

SIHAO PTY LTD, 1 ROKEVA STREETEASTWOOD NSW 2122 Australien Importiert
nach USA: Sanven

Technology Ltd. Suite 250, 9166 Anaheim Place, Rancho Cucamonga, CA 91730

Pooledas Group Ltd
U K R E P Einheit 5 Albert Edward House, Die Pavillons

Preston, Vereinigtes Kénigreich

SHUNSHUN GmbH

EG - R E P Romeracker 9 22021, 76351

Linkenheim-Hochstetten, Germany

In China hergestellt

-18 -



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technischer Support und E-Garantiezertifikat
www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia elettronica www.vevor.com/support

LUCI A FRUSTA

MODELLO: WM-3190RGB-XC-CR-1/WM-31120RGB-XC-CR-1/
WM-31150RGB-XC-CR-1/WM-3190RGB-XC-CR-TH-1/
WM-3190RGB-XC-CR-2/WM-31120RGB-XC-CR-2/
WM-31150RGB-XC-CR-2/WM-3190RGB-XC-CR-TH-2/
WM-31120RGB-XC-CR-TH-2/WM-3190RGB-XC-XH-2/
WM-31120RGB-XC-XH-2

Continuiamo a impegnarci per fornirvi strumenti a prezzi competitivi.

"Risparmia la meta", "Meta prezzo" o qualsiasi altra espressione simile da noi utilizzata rappresenta
solo una stima del risparmio che potresti trarre dall'acquistare determinati strumenti con noi rispetto ai
principali marchi pit importanti e non significa necessariamente coprire tutte le categorie di strumenti

offerti da noi. Ti ricordiamo di verificare attentamente quando effettui un ordine con noi se stai

effettivamente risparmiando la meta rispetto ai migliori marchi principali.


https://www.vevor.com/support

Machine Translated by Google

VEVOR' o

TOUGH TOOLS, HALF PRICE

MODELLO: WM-3190RGB-XC-CR-1/WM-31120RGB-XC-CR-1/
WM-31150RGB-XC-CR-1/WM-3190RGB-XC-CR-TH-1/
WM-3190RGB-XC-CR-2/WM-31120RGB-XC-CR-2/
WM-31150RGB-XC-CR-2/WM-3190RGB-XC-CR-TH-2/
WM-31120RGB-XC-CR-TH-2/WM-3190RGB-XC-XH-2/
WM-31120RGB-XC-XH-2

-

" DONT fREADON ME
LSS i

’

<Solo immagine per riferimento>

HO BISOGNO DI AIUTO? CONTATTACI!

Hai domande sul prodotto? Hai bisogno di supporto tecnico? Non esitate
a contattarci:

Supporto tecnico e certificato di garanzia
elettronica www.vevor.com/support

Queste sono le istruzioni originali, leggere attentamente tutte le

istruzioni del manuale prima dell'uso. VEVOR si riserva una chiara

interpretazione del nostro manuale d'uso. L'aspetto del prodotto sara

soggetto al prodotto ricevuto. Ti preghiamo di perdonarci se non ti

informeremo piu se sono presenti aggiornamenti tecnologici o software sul nostro pr



Machine Translated by Google

TUTELA IMPORTANTE

ATTENZIONE: leggere e comprendere l'intero manuale prima

funzionamento o manutenzione di questo prodotto. Mancato rispetto di questi

avvertenze e istruzioni possono causare lesioni personali o

danni a beni di valore. y Evitare che i
bambini utilizzino la luce della frusta. E questo prodotto non € un giocattolo. Non
consentire ai bambini di giocare. y
Tenere lontano da punte taglienti, lame e altri oggetti.
1.Montare solo seguendo queste istruzioni. Un assemblaggio improprio puo
creare pericoli.
2.Mantenere l'area di assemblaggio pulita e ben illuminata.

3.Non montare in caso di stanchezza o sotto I'effetto di alcol, droghe o farmaci.

4. Le capacita del prodotto si applicano al prodotto correttamente e completamente assemblato
soltanto.

5. Per ulteriori informazioni riguardanti le parti elencate di seguito

pagine, fare riferimento allo schema di assemblaggio di questo manuale. Scartare e

separare tutte le parti in un'area di lavoro pulita. Si prega di tenere fuori i piccoli pezzi di ricambio

alla portata dei bambini.

CONSERVA QUESTE ISTRUZIONI



Machine Translated by Google

SPECIFICHE DEL PRODOTTO

L1

3
\/

L1 D1 L2 T1
Modello
(mm) (mm) (mm) (mm)
WM-3190RGB-XC-CR-1 920 31 70 M12*30
WM-31120RGB-XC-CR-1 1230 31 70 M12*30
WM-31150RGB-XC-CR-1 1530 31 70 M12*30
WM-3190RGB-XC-CR-TH-1 1005 43 158 M12*30
WM-3190RGB-XC-CR-2 920 31 70 M12*30
WM-31120RGB-XC-CR-2 1230 31 70 M12*30
WM-31150RGB-XC-CR-2 1530 31 70 M12*30
WM-3190RGB-XC-CR-TH-2 1005 43 158 M12*30
WM-31120RGB-XC-CR-TH-2 1320 43 158 M12*30
WM-3190RGB-XC-XH-2 930 31 70 M12*30
WM-31120RGB-XC-XH-2 1230 31 70 M12*30




Machine Translated by Google

IL PACCHETTO COMPRENDE

Modello/QTA
WM-3 WM-3 WM-3 WM-3
WM-3 WM-3
L 190R 1120R 1150R 190R
Nesguna PIC OFF 190RG 1120R
GB-X GB-X GB-X GB-X
B-XC- GB-XC
C-CR- C-CR- C-CR- C-CR-
CR-2 -CR-2
1 1 1 TH-1
frusta
1 e— 1 1 1 1 2 2
luci
——‘;.\
2 bandiera raw ‘ 2 2 2 2 4 4
Vite
3 2 2 2 2 4 4
(M4*15)
4 dadi M4 2 2 2 2 4 4
5 spessore 2 2 2 2 4 4
polvere
6 1 1 1 1 2 2
berretto
7 e 2 2 2 2 4 4
gancio
piccolo
8 2 2 2 2 4 4
gancio
y 22
9 1 1 1 1 2 2
cerchio
y 20
10 1 1 1 1 2 2
cerchio
a distanza
11 1 1 1 1 1 1
controllo
12 manuale 1 1 1 1 1 1
13 Primavera 1
base




Machine Translated by Google

Modello/QTA
WM-31 WM-31 WM-31 WM-31 WM-31
Nessuna PIC OFF 150RG 90RGB- 120RG 90RGB- 120RG
B-XC-C XC-CR- B-XC-C XC-XH- B-XC-X
R-2 TH-2 R-TH-2 2 H-2
frusta
1 = 2 2 2 2 2
luci
”g_\
2 bandiera ra 4 4 4 4 4
Vite i
3 i 4 4 4 4 4
(M4*15) —
4 dafli M4 Q/ 4 4 4 4 4
5 spessore @ ) 4 4 4 4 4
6 parapolvere | ®—CO 2 2 2 2 2
7 Gancio grande \"J 4 4 4 4 4
piccolo
8 4 4 4 4 4
gancio
= | Q
9 2 2 2
) 7|
cerchio
= Q)
10 2 2 2
) ’\
cerchio
RS
11 - - - 4 4
) 71
cerchio
a distanza :
12 1 1 1 1 1
controllo
13 manuale : ) 1 1 1 1 1
14 Primavera . _ 5 P
base




Machine Translated by Google

ISTRUZIONI PER L'INSTALLAZIONE

Step2: Stringere la base sul tuo

Passaggio 1: sollevare l'anello. X
staffa sul veicolo.

»%

Passaggio 3: collegare tutti i cavi a
Passaggio 4: connettersi alla batteria
posizioni corrispondenti.
. . o filo, collegare il filo rosso al
Nota: si prega di notare che le indicazioni di
polo positivo e il filo nero a
le frecce su entrambi i lati del cablaggio
il polo negativo.
deve corrispondere.

—a

7

Passaggio 5: l'installazione &€ completata.

A
W& DONT Emm« ME

Lad

Si prega di verificare se la luce funziona

normalmente.

|




Machine Translated by Google

ISTRUZIONI PER L'USO

Esistono due metodi operativi: uno tramite telecomando e I'altro tramite I'app Magic Lantern. Le modalita operative specifiche

per entrambi i metodi sono spiegate di seguito.

Descrizione del telecomando:

Modalita automatica

Accensione/Standby

Femare AUTO @_

Velocita dinamicaA

(W}
< -
Luminosita '.~
IS
Modalita
% DY <
Colore statico : .
regolazione ‘
Tempistica Funzione di
funzione cronometraggio

Bloccato ——. ‘ @—_ Sbloccare
O @ O Modalita scena




Machine Translated by Google

Manuale operativo del telecomando: 1. Utilizzo

del telecomando; Si prega di

estrarre il nastro isolante della batteria prima dell'uso. Il segnale remoto 2.4G puo passare
attraverso la barriera, quindi non & necessario puntare verso l'unita principale durante il funzionament
2. Associazione del nuovo telecomandoL'unita remota e quella principale sono accoppiate 1 a 1 per impostazione predefinita.
Inoltre, I'unita principale pud essere accoppiata a 3 telecomandi e ciascun telecomando puo essere
accoppiato a qualsiasi unita principale.

3. Modalita di abbinamento remoto

gratuito; In alcuni casi specifici, potrebbe essere necessario associare I'unita principale a eventuali
telecomandi. Si prega di eseguire i seguenti passaggi per la modalita di abbinamento remoto gratuita:
Scollegare I'alimentazione dell'unita principale e collegarla dopo pochi secondi.

4. Cambia la sequenza dei colori di uscita;

La sequenza predefinita del segnale di uscita del controller & 1sComune-Verde-Rosso-Blu. Se I'applicazione
LED prevede una sequenza di cavi diversa, i tasti colorati diretti non corrisponderanno al colore del LED. In
questo caso, l'utente puo regolare la sequenza del segnale di uscita.

Nota: la corrente di uscita di picco & di 4 ampere e la corrente costante massima € di 2 ampere per canale.
Ridurre il carico se l'unita principale si surriscalda. ATTENZIONE Non cortocircuitare o sovraccaricare le

uscite LED, cio potrebbe causare danni permanenti!

Premere o accedere allo stato di standby

Pausa

Modalita automatica (21 cicli di modalita dinamica

predefiniti)

La velocita/sensibilita aumenta/diminuisce

Cambio di modalita

®®
Yoo

-

*
)
o

La luminosita aumenta/diminuisce

@ @ . .@ Cambia il colore della luce in:
rosso/verde/blu/giallo/ciano/viola/bianco




Machine Translated by Google

@ @ Spegnere le luci regolarmente per 1 ora/2
ora

@ Bloccato/Sblocca

In base al programma impostato, viene visualizzato il

flusso di colore

O @ O L'interruttore rispettivamente &: il

modello fiocco di neve/romantico/cielo stellato

Nota: regolare la luminosita, quando la velocita € elevata, la luce lampeggia per indicare che € stata regolata allo

stato massimo o minimo.

Manuale operativo dell'’APP Magic Lantern:
1.1 Panoramica

La Lanterna Magica € un'app mobile che controlla la cintura della lampada a LED tramite il telefono cellulare
Apple o Android.
Le modalita di controllo tradizionali come infrarossi, 433 MHz, 2,4 GHz e altre vecchie modalita cablate

verranno sostituite dalla modalita di controllo del telefono cellulare con funzionalita convenienti, potenti e scalabili.

Tramite I'app mobile puoi controllare facilmente e rapidamente il colore, la luminosita e la temperatura del
colore della cintura luminosa a LED. Puoi anche impostare varie modalita di lampeggiamento e far muovere
la cintura luminosa a LED al ritmo della musica. Basta tenere accesa la banda luminosa a LED, accendere il
software di controllo intelligente dell'app Magic Lotus Lamp del telefono cellulare, collegare uno o piu
controller della banda luminosa a LED tramite Bluetooth, in modo da realizzare varie impostazioni e

controllare pitt bande luminose a LED. Il funzionamento & molto semplice, facile da imparare e da usare.

1.2 Caratteristiche

y Regola le strisce LED a colori con 60.000 colori per cambiare colore e luminosita e regola le strisce LED
monocromatiche per cambiare luminosita e temperatura del colore y Riproduci musica mobile o accendi
un dispositivo di riproduzione audio, puoi lasciare che la luce

cambia il colore e la luminosita con il ritmo della musica, il ritmo della musica & bellissimo

y All'interno della modalita di impostazione multipla per il cambio colore e il controllo delle strisce LED senza

mobile



Machine Translated by Google

y Controllo a lunga distanza con antenna omnidirezionale e gruppo molti-a-molti
modalita di controllo
y Connessione automatica semplice e veloce
1.3 Prestazioni
L'APP Magic Lantern é facile da usare e compatibile. Il test vero e proprio e
la verifica di centinaia di telefoni cellulari & compatibile con il mercato attuale.
La maggior parte degli smartphone. L'APP ¢ piccola e comoda, consuma meno sistema
risorse, quindi i requisiti della configurazione mobile sono bassi. Ritardo di controllo

e piccolo, I'operazione ¢ piacevole, il controllo della luce & fluido con la vista delle persone

senso.
2. Ambiente operativo

Questo programma APP richiede telefoni con sistema superiore ad Andriod 4.3 e iOS 8.0

La configurazione del telefono cellulare non & limitata.
3. Istruzioni

Nota: la versione Android e la versione iOS scaricano e utilizzano lo stesso metodo, qui

nella versione Android come esempio.
3.1 Scaricamento dell'APP

Scansionail codice QR
| sistemi iIOS e Android possono scaricare I'APP "Lanterna Magica" tramite scansione
il codice QR. Apri il browser o altri strumenti con la funzione "Scansiona codice QR", scansiona il

codice QR "Lanterna Magica" come di seguito:

Dopo che il software & stato installato e scaricato correttamente, fare clic su apk per installarlo.
Al termine dell'installazione, verra visualizzato il seguente stile di icona del programma

la scrivania.

-10 -



Machine Translated by Google

tMagic Lantern

i

3.2 Funzionamento dell'app

(1) Fare clic sull'icona dell’APP Magic Lantern , accedere alla pagina dell’APP:

tMagic Lantern

W
|

(2) Dopo aver effettuato l'accesso all'interfaccia dell'’APP, se il Bluetooth non & abilitato, "Consenti Magic

Lanterna a Bluetooth?" Fare clic su [Consenti]

Allow Magic Lantern to enable Bluetooth?

DENY ALLOW

Music Mic  Schedule

(3) passa all'interfaccia colore e luminosita:

-11 -



Machine Translated by Google

‘ Click to show the lamp list }

’ Click to display setting view ‘
‘ Switch the color wheel }

‘ Lamp switch button

Adjust the color

i Display the RGB value
Click to manual

adiustment view

Click square icon to

adjust the color

Click to shift the interface

y4y fare clic per mostrare I'elenco delle lampade, visualizzare I'elenco delle lampade:

L ] ]
Bluetooth auto connect =

after search for devices

Group Manage +

@Y MyDevices ¢ Q
Lamp list |— — @

4

Status of device connection

-12 -



Machine Translated by Google

Group Manage +

@¢ MyDevices

\ -}

¥ o> SR Device disconnected

y5y Fare clic sulla visualizzazione della regolazione manuale RGB:

-13-



Machine Translated by Google

Y6y passa alla modalita interfaccia:

Pattern classification

Slide up and down to
adjust the mode under
the current category

Slide adjustment

speed

L

Curtain Trans Water Flc >

46 Y > Flush Cle
47 Y-C-P Flush Open
1 Auto Play

2 Magic Forward

agic Back

Adjust

y7y passa all'interfaccia del ritmo musicale:

Previous song, Pause/Play,

Next song o

Alternat

ne

Faded

ternative Ct

® ® ®

ve Christmas

d Christmas

Happy Birthday

Horizon

-14 -

Switch playback
mode




Machine Translated by Google

y8y Passare all'interfaccia del ritmo del microfono:

o]
Music rhythm through cell

phone microphone

(® Phone MIC

QO External MiC

2 W
W

88 P

Style Music

Music rhythm through the

3 Phone MIC
microphone on the product O Phone

@® External MIC

i

4

2 S
Uy, N
i

© O ®
@) O (@,

Rhythm  Spectrum  Rolling

D)

Schedule

-15 -

Switch phone microphone

and external microphone

| Switch phone microphone

and external microphone

Set different rhythm

| Change the sensitivity of
MIC to match the sound




Machine Translated by Google

y9y Passare allinterfaccia di cronometraggio:

Timing Light-on
button

Set the time of Light-On

- 000000 ®

Set the lighting cycle

Timing Light-off
ule Off @ - button

Set the time of Light-Off

g X X X X X N B Set the light-off cycle

y10y Passare all'interfaccia di modifica della sequenza pin:

Set red light

Set green light

Set blue light

-16-



Machine Translated by Google

Informazioni FCC

(Nota: contiene ID FCC: 2A49J-CB01)

ATTENZIONE: Variazioni o modifiche non espressamente approvate dalla parte
responsabile della conformita potrebbe annullare I'autorita dell'utente a utilizzare il
attrezzatura!

Questo dispositivo € conforme alla Parte 15 delle norme FCC. L'operazione é soggetta all'art
seguenti due condizioni:

1) Questo prodotto puod causare interferenze dannose.

2) Questo prodotto deve accettare qualsiasi interferenza ricevuta, inclusa l'interferenza
potrebbe causare un funzionamento indesiderato.

ATTENZIONE: cambiamenti o modifiche a questo prodotto non espressamente approvati da
la festa. Responsabile della conformita potrebbe invalidare l'autorita dell'utente a utilizzare il
Prodotto.

Nota: questo prodotto & stato testato ed € risultato conforme ai limiti di una classe

B dispositivo digitale ai sensi della Parte 15 delle norme FCC. Questi limiti sono progettati per
fornire una protezione ragionevole contro le interferenze dannose in un ambiente residenziale
installazione.

Questo prodotto genera, utilizza e puo irradiare energia in radiofrequenza e, in caso contrario
installato e utilizzato in conformita con le istruzioni, puo causare danni

interferenze alle comunicazioni radio. Tuttavia, non vi € alcuna garanzia in tal senso

non si verificheranno interferenze in una particolare installazione. Se questo prodotto causa
interferenze dannose alla ricezione radiofonica o televisiva, che possono essere determinate da
spegnendo e riaccendendo il prodotto, I'utente & invitato a provare a correggere il problema
interferenza da parte di una o piu delle seguenti misure.

- Riorientare o riposizionare I'antenna ricevente.

- Aumentare la distanza tra il prodotto e il ricevitore.

- Collegare il prodotto ad una presa su un circuito diverso da quello a cui € collegato

il ricevitore & collegato.

- Consultare il rivenditore o un tecnico radio/TV esperto per assistenza.

-17 -



Machine Translated by Google

CORRETTO SMALTIMENTO

Questo prodotto & soggetto alle disposizioni della Direttiva europea 2012/19/
UE. Il simbolo del bidone della spazzatura barrato indica che nell'Unione Europea
— il prodotto richiede la raccolta differenziata dei rifiuti. Questo vale per il prodotto e
tutti gli accessori
contrassegnati da questo simbolo. | prodotti contrassegnati come tali non possono essere smaltiti

con i normali rifiuti domestici, ma devono essere portati in un punto di raccolta per il riciclaggio

dispositivi elettrici ed elettronici.

Indirizzo : Baoshanqu Shuangchenglu 803long 11hao 1602A-1609shi
Shanghai

Importato negli Stati Uniti: SIHAO PTY LTD, 1 ROKEVA
STREETEASTWOOD

NSW 2122 Australia Importato negli Stati Uniti: Sanven Technology
Ltd. Suite 250, 9166 Anaheim Place, Rancho Cucamonga, CA 91730

Gruppo Pooledas Ltd

REP. DEL HEGNO UNITO Unita 5 Casa Albert Edward, | Padiglioni

Preston, Regno Unito

SHUNSHUN GmbH

REP.CE Rémeracker 9 22021, 76351

Linkenheim-Hochstetten, Germania

Made in China

-18 -



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Supporto tecnico e certificato di garanzia
elettronica www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia electronica www.vevor.com/support

LUCES DE LATIGO

MODELO: WM-3190RGB-XC-CR-1/WM-31120RGB-XC-CR-1/
WM-31150RGB-XC-CR-1/WM-3190RGB-XC-CR-TH-1/
WM-3190RGB-XC-CR-2/WM-31120RGB-XC-CR-2/
WM-31150RGB-XC-CR-2/WM-3190RGB-XC-CR-TH-2/
WM-31120RGB-XC-CR-TH-2/WM-3190RGB-XC-XH-2/
WM-31120RGB-XC-XH-2

Seguimos comprometidos a proporcionarle herramientas a precios competitivos.

"Ahorre a mitad de precio", "A mitad de precio" o cualquier otra expresion similar utilizada por nosotros solo
representa una estimacion de los ahorros que podria beneficiarse al comprar ciertas herramientas con nosotros en
comparacion con las principales marcas y no significa necesariamente cubrir todas las categorias de herramientas

ofrecidas. por nosotros. Le recordamos que, cuando realice un pedido con nosotros, verifique cuidadosamente

si realmente esté ahorrando la mitad en comparacion con las principales marcas.


https://www.vevor.com/support

Machine Translated by Google

® .
VEVOR LUCES DE LATIGO

TOUGH TOOLS, HALF PRICE

MODELO: WM-3190RGB-XC-CR-1/WM-31120RGB-XC-CR-1/
WM-31150RGB-XC-CR-1/WM-3190RGB-XC-CR-TH-1/
WM-3190RGB-XC-CR-2/WM-31120RGB-XC-CR-2/
WM-31150RGB-XC-CR-2/WM-3190RGB-XC-CR-TH-2/
WM-31120RGB-XC-CR-TH-2/WM-3190RGB-XC-XH-2/
WM-31120RGB-XC-XH-2

" DONT fREADON ME
LSS i

L

’

<Imagen sélo como referencia>

¢(NECESITAS AYUDA? {CONTACTENOS!

¢ Tiene preguntas sobre el producto? ; Necesita soporte técnico? Siéntete libre de
contactarnos:

Soporte técnico y certificado de garantia
electronica www.vevor.com/support

Estas son las instrucciones originales; lea atentamente todas las instrucciones

del manual antes de operar. VEVOR se reserva una interpretacion clara de nuestro
manual de usuario. La apariencia del producto estara sujeta al producto que
recibié. Perdone que no le informaremos nuevamente si hay actualizaciones de
tecnologia o software en nuestro producto.



Machine Translated by Google

CONSIDERACIONES IMPORTANTES

ADVERTENCIA: Lea y comprenda este manual completo antes

operar o dar servicio a este producto. No seguir estos

Las advertencias e instrucciones pueden causar lesiones personales o

dafios a bienes valiosos.  Evite que
los nifios utilicen la luz de latigo. Y este producto no es un juguete. No
permitir que los nifios jueguen.
Mantener alejado de puntas afiladas, cuchillas y otros elementos.
1.Ensamble Unicamente de acuerdo con estas instrucciones. Un montaje inadecuado puede
crear peligros.
2.Mantenga el area de reunion limpia y bien iluminada.

3. No se retina cuando esté cansado o bajo la influencia de alcohol, drogas o medicamentos.

4. Las capacidades del producto se aplican al producto ensamblado de manera adecuada y completa.
solo.

5. Para obtener informacién adicional sobre las piezas enumeradas a continuacion

paginas, consulte el diagrama de montaje de este manual. Desenvolver y

Separe todas las piezas en un area de trabajo limpia. Mantenga las piezas de repuesto pequeias fuera del alcance

Al alcance de los nifios.

GUARDA ESTAS INSTRUCCIONES



Machine Translated by Google

ESPECIFICACIONES DEL PRODUCTO

- L1 B
o= 3l Y e e e LA S e e e S
o1} T1¢ 1] ST
L2

Modelo L1 D1 L2 ™

(mm) (mm) (mm) (mm)

WM-3190RGB-XC-CR-1 920 31 70 M12*30
WM-31120RGB-XC-CR-1 1230 31 70 M12*30
WM-31150RGB-XC-CR-1 1530 31 70 M12*30
WM-3190RGB-XC-CR-TH-1 1005 43 158 M12*30
WM-3190RGB-XC-CR-2 920 31 70 M12*30
WM-31120RGB-XC-CR-2 1230 31 70 M12*30
WM-31150RGB-XC-CR-2 1530 31 70 M12*30
WM-3190RGB-XC-CR-TH-2 1005 43 158 M12*30
WM-31120RGB-XC-CR-TH-2 1320 43 158 M12*30
WM-3190RGB-XC-XH-2 930 31 70 M12*30
WM-31120RGB-XC-XH-2 1230 31 70 M12*30




Machine Translated by Google

EL PAQUETE INCLUYE

Modelo / CANTIDAD
WM-3 WM-3 WM-3 WM-3
190R 1120R 1150R 190R WM-3 -3
No DESC PIC 190RG 1120R
GB-X GB-X GB-X GB-X
B-XC- GB-XC
C-CR- C-CR- C-CR- C-CR-
CR-2 -CR-2
1 1 1 TH-1
1 13090 | comd 4 1 1 1 2 2
luces
TR
2 bandera LT’LM%- ‘ 2 2 2 2 4 4
Tornillo
3 2 2 2 2 4 4
(M4*15)
4 tuercas M4 2 2 2 2
5 calce 2 2 2 2
polvo
6 1 1 1 1 2 2
gorra
7 Grande 2 2 2 2 4 4
gancho
pequefio
8 2 2 2 2 4 4
gancho
22
9 1 1 1 1 2 2
aro
20
10 1 1 1 1 2 2
aro
remoto
11 1 1 1 1 1 1
control
12 manuales 1 1 1 1 1 1
13 Primavera . 1
base




Machine Translated by Google

Modelo / CANTIDAD

WM-31 WM-31 WM-31 WM-31 WM-31
No DESC PIC 150RG 90RGB- 120RG 90RGB- 120RG
B-XC-C XC-CR- B-XC-C XC-XH- B-XC-X
R-2 TH-2 R-TH-2 2 H-2
1 latigo : 2 2 2 2 2
luces
2 bandera EL‘ ok 4 4 4 4 4
Tornillo
3 i 4 4 4 4 4
(M4*15) -
4 tudrcas M4 O 4 4 4 4 4
5 calce o) 4 4 4 4 4
6 tapa contra el polvo ““/O 2 2 2 2 2
(F}
7 gancho grande ".J 4 4 4 4 4
pequefio
8 4 4 4 4 4
gancho
22
9 G 2 2 2
aro 7
20
10 0 2 2 2
aro 7
16
11 O - - - 4 4
aro 7
remoto ;
12 1 1 1 1 1
control
13 manuales ‘ : 1 1 1 1 1
14 Primavera . _ 5 9
base




Machine Translated by Google

INSTRUCCIONES DE INSTALACION

Paso 2: aprieta la base en tu

Paso 1: levanta el anillo. 3
soporte en el vehiculo.

%

Paso 3: Conecte todos los cables a
Paso 4: Conéctese a la bateria
puestos correspondientes.
. . cable, conecte el cable rojo al
Nota: Tenga en cuenta que las instrucciones de
polo positivo y el cable negro a
las flechas a ambos lados del cableado
el polo negativo.
debe corresponder.

Paso 5: La instalacion estd completa.

.
" DONT TREADONME
e =

Lad

Por favor prueba si la luz esta funcionando.

* normalmente.




Machine Translated by Google

INSTRUCCIONES DE OPERACION

Hay dos métodos de funcionamiento: uno es a través de un control remoto y el otro es a través de la
aplicacion Magic Lantern. Las formas de funcionamiento especificas de ambos métodos se explican a
continuacion.

Descripciodn del control remoto:

Modo automatico

Encendido/En espera

Detener ——@ AUTO @_
Velocidad dinamicaA

—
L)
Brillo N X
IS
Modo
color estatico @ @ ‘H
ajustamiento ‘ '
Momento ——@ @ @El}— Funcién de
funcién sincronizacion
bloqueado _ @—— desbloquear

O @ O Modo escena




Machine Translated by Google

Manual de operacion del control remoto: 1. Uso

del control remoto; Retire la

cinta aislante de la bateria antes de usarla. La sefial remota de 2,4G puede atravesar la
barrera, por lo que no es necesario apuntar a la unidad principal cuando esta en funcionamiento.
2. Emparejamiento de un nuevo control remoto EI control remoto y la unidad principal estan emparejados 1 a 1 de forma predeterminada.
Ademas, la unidad principal se puede emparejar con 3 controles remotos y cada control remoto se puede
emparejar con cualquier unidad principal.

3. Modo de emparejamiento remoto

gratuito; En algunos casos especificos, es posible que sea necesario emparejar la unidad principal con algin
controlador remoto. Siga los siguientes pasos para el modo de emparejamiento remoto gratuito: Desconecte la
alimentacion de la unidad principal y conéctela después de unos segundos.

4. Cambiar la secuencia de colores de salida;

La secuencia de sefial de salida predeterminada del controlador es 1sComun-Verde-Rojo-Azul. Si la aplicacién de
LED tiene una secuencia de cables diferente, las teclas de colores directos no coincidiran con el color del LED.
En este caso, el usuario puede ajustar la secuencia de la sefal de salida.

Nota: La corriente de salida maxima es de 4 amperios y la corriente constante maxima es de 2 amperios por
canal. Reduzca la carga si la unidad principal se sobrecalienta. PRECAUCION No cortocircuite ni sobrecargue las

salidas de LED, jesto puede provocar dafios permanentes!

Presione o ingrese al estado de espera

Pausa

Modo automatico (21 ciclos de modo dinamico

predeterminados)

Velocidad/sensibilidad aumenta/disminuye

Cambio de modo

®®
Yoo

-

*
)
o

El brillo aumenta/disminuye

@ @ . . @ Cambia el color de la luz a: rojo/
verde/azul/amarillo/cian/purpura/blanco




Machine Translated by Google

@ @ Apague las luces regularmente durante 1 hora/2
hora

@ Bloqueado/Desbloqueado

Segun el programa, establezca la visualizacion del flujo

de color.

O @ O El interruptor respectivamente es: el

modelo copo de nieve/romantico/cielo estrellado

Nota: Ajuste el brillo, cuando la velocidad es grande, la luz parpadea para indicar que se ha ajustado al estado

maximo o minimo.

Manual de funcionamiento de la aplicacion Magic Lantern:

1.1 Descripcion general

Magic Lantern es una aplicaciéon movil que controla el cinturén de la ldmpara LED a través de un teléfono mévil
Apple o Android.

Las formas de control tradicionales como infrarrojos, 433 MHz, 2,4 GHz y otras antiguas formas cableadas seran

reemplazadas por formas de control de teléfonos moéviles con funciones convenientes, potentes y escalables.

A través de la aplicacion mévil, puedes controlar facil y rapidamente el color, el brillo y la temperatura de color del
cinturén de luz LED. También puedes configurar varios modos de parpadeo y hacer que el cinturén de luz

LED se mueva con el ritmo de la musica. Simplemente mantenga encendida la banda de luz LED, encienda el
software de control inteligente de la aplicacion de lampara Magic Lotus del teléfono mévil, conecte uno o

mas controladores de banda de luz LED a través de Bluetooth, para realizar varias configuraciones y

control de multiples bandas de luz LED. El funcionamiento es muy sencillo, facil de aprender y utilizar.

1.2 Caracteristicas

Ajuste las tiras de LED de color con 60,000 colores para cambiar el color y el brillo y ajuste las tiras de LED
monocromaticas para cambiar el brillo y la temperatura del color ~ Reproduzca musica mévil o encienda
un dispositivo de reproduccion de sonido, puede dejar que la luz

cambia el color y el brillo con el ritmo de la musica, el ritmo de la musica es hermoso

Modo de configuracion multiple interno para cambio de color y control de tiras de LED sin

movil



Machine Translated by Google

Control de larga distancia con antena omnidireccional y grupo de muchos a muchos
modo de control
Conexion automatica rapida y sencilla
1.3 Rendimiento
La aplicacion Magic Lantern es facil de usar y compatible. Las pruebas reales y
La verificacién de cientos de teléfonos moéviles es compatible con el mercado actual.
La mayoria de los teléfonos inteligentes. La aplicacién es pequefia y conveniente, consume menos sistema.
recursos, por lo que los requisitos de la configuracién mévil son bajos. Retardo de control
Es pequefio, la operacion se siente bien, el control de la luz es fluido con la vision de las personas.
sentido.
2. Entorno operativo
Este programa de aplicacion requiere teléfonos con sistema superior a Andriod 4.3 e iOS 8.0
La configuracion del teléfono mévil no esta limitada.
3. Instrucciones
Nota: Descargue la version de Android y la version de iOS y use el mismo método, aqui
en la version de Android como ejemplo.
3.1 Descarga de la aplicacion
Escanea el cédigo QR
Los sistemas iOS y Android pueden descargar la aplicacion "Magic Lantern" escaneando
el cédigo QR. Abra el navegador u otras herramientas con la funcién "Escanear cédigo QR", escanee el

codigo QR "Magic Lantern" como se muestra a continuacion:

Una vez que el software se haya instalado y descargado correctamente, haga clic en apk para instalarlo.

Una vez completada la instalacion, aparecera el siguiente estilo de icono de programa en

el escritorio.

-10 -



Machine Translated by Google

tMagic Lantern

i

3.2 Operacion de la aplicacion

(1) Haga clic en el icono de la APLICACION Magic Lantern , ingrese a la pagina de la APLICACION:

tMagic Lantern

W
|

(2) Después de ingresar a la interfaz de la APLICACION, si Bluetooth no esta habilitado, "Permitir Magic

¢Linterna a Bluetooth?" Haga clic en [Permitir]

Allow Magic Lantern to enable Bluetooth?

DENY ALLOW

Music Mic  Schedule

(3) cambiar a la interfaz de color y brillo:

-11 -



Machine Translated by Google

‘ Click to show the lamp list }

‘ Switch the color wheel }

i Display the RGB value
Click to manual

adiustment view

Click to shift the interface

(4) haga clic para mostrar la lista de lamparas, ver la lista de lamparas:

Bluetooth auto connect

after search for devices Group Manage +

G¥ My Devices

<

-12-

’ Click to display setting view ‘

‘ Lamp switch button

Adjust the color

Click square icon to

adjust the color

Status of device connection




Machine Translated by Google

Group Manage +

@¢ MyDevices

) N Device disconnected

(5) Haga clic para acceder a la vista de ajuste manual RGB:

-13-



Machine Translated by Google

(6) cambie a la interfaz de modo:

Pattern classification

Slide up and down to
adjust the mode under
the current category

Slide adjustment
speed

L

Curtain Trans Water Flc >

47 Y-C-P Flush Open
1 Auto Play

2 Magic Forward

agic Back

Adjust

(7) cambie a la interfaz de ritmo musical:

Previous song, Pause/Play,

Next song

ternative Ct

® ® ®

Alternative Christmas

nd Christmas

Faded

Happy Birthday

Horizon

-14 -

Switch playback
mode




Machine Translated by Google

(8) Cambie a la interfaz de ritmo del micréfono:

o]
Music rhythm through cell

phone microphone

(® Phone MIC

QO External MiC

2 W
W

88 P

Style Music

Music rhythm through the

3 Phone MIC
microphone on the product O Phone

@® External MIC

i

4

2 S
Uy, N
i

© O ®
@) O (@,

Rhythm  Spectrum  Rolling

D)

Schedule

-15-

Switch phone microphone

and external microphone

| Switch phone microphone

and external microphone

Set different rhythm

| Change the sensitivity of
MIC to match the sound




Machine Translated by Google

(9) Cambie a la interfaz de sincronizacion:

Timing Light-on
button

Set the time of Light-On

Set the lighting cycle

Timing Light-off
L_B button

Set the time of Light-Off

X X X X X X X B Set the light-off cycle

(10) Cambie a la interfaz de modificacién de secuencia de pines:

Set red light

Set green light

Set blue light

- dieciséis -



Machine Translated by Google

Informacion de la FCC

(Observacion: contiene FCC ID: 2A49J-CB01)

PRECAUCION: Cambios o modificaciones no aprobados expresamente por la parte
responsable del cumplimiento podria anular la autoridad del usuario para operar el

jequipo!

Este dispositivo cumple con la Parte 15 de las normas de la FCC. La operacién esta sujeta a la
siguientes dos condiciones:

1) Este producto puede causar interferencias perjudiciales.

2) Este producto debe aceptar cualquier interferencia recibida, incluidas las interferencias que
puede causar un funcionamiento no deseado.

ADVERTENCIA: Los cambios o modificaciones a este producto no aprobados expresamente por
La fiesta. El responsable del cumplimiento podria anular la autoridad del usuario para operar el
producto.

Nota: Este producto ha sido probado y cumple con los limites para una Clase

Dispositivo digital B de conformidad con la Parte 15 de las normas de la FCC. Estos limites estan disefiados para
Proporcionar una proteccion razonable contra interferencias perjudiciales en un entorno residencial.
instalacion.

Este producto genera, utiliza y puede irradiar energia de radiofrecuencia y, de no ser asi,
instalado y utilizado de acuerdo con las instrucciones, puede causar dafios

interferencias en las comunicaciones por radio. Sin embargo, no hay garantia de que

No se produciran interferencias en una instalacién en particular. Si este producto causa
interferencia dafina a la recepcion de radio o television, que puede determinarse mediante

Al apagar y encender el producto, se recomienda al usuario que intente corregir el error.
interferencia por una o mas de las siguientes medidas.

- Reorientar o reubicar la antena receptora.

- Aumentar la distancia entre el producto y el receptor.

- Conecte el producto a una toma de corriente de un circuito diferente al que esta conectado

El receptor esta conectado.

- Consulte al distribuidor o a un técnico experimentado en radio/TV para obtener ayuda.

-17 -



Machine Translated by Google

ELIMINACION CORRECTA

Este producto esta sujeto a las disposiciones de la Directiva europea 2012/19/
UE. El simbolo que muestra un contenedor con ruedas tachado indica que el
producto requiere recogida selectiva de basura en la Unién Europea. Esto se aplica
—1 9
al producto y a todos los accesorios.
marcado con este simbolo. Los productos marcados como tales no se pueden desechar con la

basura doméstica normal, sino que deben llevarse a un punto de recogida para su reciclaje.

dispositivos eléctricos y electronicos.

Direccion : Baoshanqu Shuangchenglu 803long 11hao 1602A-1609shi
Shanghai

Importado a AUS: SIHAO PTY LTD, 1 ROKEVA STREETEASTWOOD
NSW 2122 Australia

Importado a EE. UU.: Sanven Technology Ltd. Suite 250, 9166
Anaheim Place, Rancho Cucamonga, CA 91730

Grupo Pooledas Ltd

REPRESENTANTEE DEL REINO UNIDO Unidad 5 Casa Albert Edward, Los Pabellones

Preston, Reino Unido

SHUNSHUN GmbH

REPRESENTANTE DE LA GE Rémeracker 9 22021, 76351

Linkenheim-Hochstetten, Alemania

Hecho en china

-18 -



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Soporte técnico y certificado de garantia
electrénica www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat e-gwarancji www.vevor.com/support

SWIATEA BICZOWE

MODEL: WM-3190RGB-XC-CR-1/WM-31120RGB-XC-CR-1/
WM-31150RGB-XC-CR-1/WM-3190RGB-XC-CR-TH-1/
WM-3190RGB-XC-CR-2/WM-31120RGB-XC-CR-2/
WM-31150RGB-XC-CR-2/WM-3190RGB-XC-CR-TH-2/
WM-31120RGB-XC-CR-TH-2/WM-3190RGB-XC-XH-2/
WM-31120RGB-XC-XH-2

Nadal doktadamy wszelkich staran, aby zapewni¢ Paistwu narze dzia w konkurencyjnej cenie.

»Zaoszcze dz o potowe ”, ,0 potowe ceny” lub inne podobne wyrazenia uzywane przez nas przedstawiajg jedynie
szacunkowg oszcze dnos¢, jakg mozesz zyskac kupujgc u nas okreslone narze dzia w poréwnaniu z gtdéwnymi
najlepszymi markami i niekoniecznie oznaczajg uwzgle dnienie wszystkich kategorii oferowanych narze dzi przez nas.

Przypominamy, aby podczas sktadania zaméwienia u nas doktadnie sprawdzi¢, czy faktycznie oszcze dzasz

potowe w poréwnaniu z czotowymi markami.


https://www.vevor.com/support

Machine Translated by Google

® .
VEVOR SWIATEA BICZOWE

TOUGH TOOLS, HALF PRICE

MODEL: WM-3190RGB-XC-CR-1/WM-31120RGB-XC-CR-1/
WM-31150RGB-XC-CR-1/WM-3190RGB-XC-CR-TH-1/
WM-3190RGB-XC-CR-2/WM-31120RGB-XC-CR-2/
WM-31150RGB-XC-CR-2/WM-3190RGB-XC-CR-TH-2/

WM-31120RGB-XC-CR-TH-2/WM-3190RGB-XC-XH-2/
WM-31120RGB-XC-XH-2

- “\
— DMZEADDNW
-t ] )

’

<Zdje cie tylko w celach informacyjnych>

POTRZEBUJE POMOCY? SKONTAKTU]J SIE Z NAMI!

Masz pytania dotyczgce produktu? Potrzebujesz wsparcia technicznego? Smiato mozesz sie z nami
skontaktowac:

Wsparcie techniczne i certyfikat e-gwarancji
www.vevor.com/support

To jest oryginalna instrukcja. Przed przystgpieniem do obstugi prosimy o doktadne
zapoznanie sie ze wszystkimi instrukcjami. VEVOR zastrzega sobie jasng interpretacje naszej
instrukcji obstugi. Wyglad produktu zalezy od produktu, ktéry otrzymates. Prosze wybaczy¢

nam, ze nie be dziemy ponownie informowa¢ Panstwa, jesli pojawia sie jakie$ aktualizacje technologii
lub oprogramowania naszego produktu.



Machine Translated by Google

WAZNI OCHRONIARZE

OSTRZEZENIE: Przeczytaj i zrozum wczeéniej catg niniejszg instrukcje

obstugi lub serwisowania tego produktu. Niezastosowanie sie do nich

ostrzezenia i instrukcje moga spowodowac obrazenia ciata lub

uszkodzenie cennego mienia.  Unikaj
uzywania przez dzieci latarki z batem. A ten produkt nie jest zabawkg. Nie r6b
pozwoli¢ dzieciom na zabawe .
Trzymaj z dala od ostrych punktéw, ostrzy i innych przedmiotéw.
1.Montaz wylgcznie wedtug niniejszej instrukcji. Nieprawidtowy montaz moze
stwarzac zagrozenia.
2. Utrzymuj miejsce montazu w czystosci i dobrze oswietlone.

3. Nie montuj, gdy jeste$ zme czony lub pod wptywem alkoholu, narkotykéw lub lekéw.

4. Mozliwosci produktu dotyczg prawidtowo i kompletnie zmontowanego produktu
tylko.

5. Dodatkowe informacje dotyczgce cze $ci wymienionych ponizej

stron, zapoznaj sie ze schematem montazu w tej instrukgcji. Rozpakuj i

oddziel wszystkie cze $ci w czystym miejscu pracy. Prosze trzymac mate cze $ci zamienne z dala od

zasie g dzieci.

ZACHOWA|J TE INSTRUKCJE



Machine Translated by Google

SPECYFIKACJA PRODUKTU

L1

3
\/

Model L1 D1 L2 T
(mm) (mm) (mm) (mm)
WM-3190RGB-XC-CR-1 920 31 70 M12*30
WM-31120RGB-XC-CR-1 1230 31 70 M12#%30
WM-31150RGB-XC-CR-1 1530 31 70 M12#%30
WM-3190RGB-XC-CR-TH-1 1005 43 158 M12*30
WM-3190RGB-XC-CR-2 920 31 70 M12*30
WM-31120RGB-XC-CR-2 1230 31 70 M12*30
WM-31150RGB-XC-CR-2 1530 31 70 M12*30
WM-3190RGB-XC-CR-TH-2 1005 43 158 M12*30
WM-31120RGB-XC-CR-TH-2 1320 43 158 M12*30
WM-3190RGB-XC-XH-2 930 31 70 M12*30
WM-31120RGB-XC-XH-2 1230 31 70 M12*30




Machine Translated by Google

PACZKA ZAWIERA
Model / ILOSC
WM-3 WM-3 WM-3 WM-3
WM-3 WM-3
o 190R 1120R 1150R 190R
Brak pdje cia wytgcgonego 190RG 1120R
GB-X GB-X GB-X GB-X
B-XC- GB-XC
C-CR- C-CR- C-CR- C-CR-
CR-2 -CR-2
1 1 1 TH-1
1 bicz o= 1 1 1 2 2
Swiatta
TaR
Lt'i""a“"“'
2 flaga ‘ 2 2 2 2 4 4
Sruba
3 2 2 2 2 4 4
(M4*15)
4 nakre tki M4 2 2 2 2 4 4
5 Podktadka 2 2 2 2 4
pyt
6 1 1 1 1 2 2
czapka
Duzy
7 2 2 2 2 4 4
hak
ma
8 Y 2 2 2 2 4 4
hak
22
9 1 1 1 1 2 2
obre cz
20
10 1 1 1 1 2 2
obre cz
zdalny
11 1 1 1 1 1 1
kontrola
12 instrukgji 1 1 1 1 1 1
13 Wiosna ]
baza




Machine Translated by Google

Model / ILOSC
WM-31 WM-31 WM-31 WM-31 WM-31
Brak zdje cia wytaczonego 150RG 90RGB- 120RG 90RGB- 120RG
B-XC-C XC-CR- B-XC-C XC-XH- B-XC-X
R-2 TH-2 R-TH-2 2 H-2
bicz
1 = 2 2 2 2 2
Swiatta
"g_\
2 flaga = 4 4 4 4 4
Sruba |
3 ! 4 4 4 4 4
(M4*15) —
4 nakre tki M4 Q/ 4 4 4 4 4
5 Podadka @ ) 4 4 4 4 4
6 ostona przeciwpylowa ‘_‘—/O 2 2 2 2 2
7 Duzy hak \'. J 4 4 4 4 4
maty
8 4 4 4 4 4
hak
2 | Q
9 2 2 2
7|
obre cz
K
10 2 2 2
’\
obre cz
K
11 - - - 4 4
obre cz 7
zdalny :
12 1 1 1 1 1
kontrola
13 instrukcji ; ] 1 1 1 1 1
14 Wiosna . _ 5 5
baza




Machine Translated by Google

INSTRUKCJE INSTALAC]T

Krok 1: Podnie$ pierscien.

Krok 2: Dokre ¢ podstawe na swoim

uchwyt na pojezdzie.

~%

Krok 3: Podtgcz wszystkie przewody do
Krok 4: Podtgcz do akumulatora
odpowiednie stanowiska.
L L przewodu, podtgcz czerwony przewéd do
Uwaga: Nalezy pamie tac¢, ze wskazéwki dotyczgce
biegun dodatni i czarny przewéd do
strzatki po obu stronach okablowania
biegun ujemny.
musi odpowiadac.

Krok 5: Instalacja zostata zakonczona.

.
" DONT TREADONME
e =

Lad

Prosze sprawdzi¢, czy Swiatto dziata

normalnie.




Machine Translated by Google

INSTRUKCJA OBStUGI

Istnieja dwie metody obstugi: jedna za pomocg pilota, a druga za pomocg aplikacji Magic Lantern. Konkretne

sposoby dziatania obu metod wyjasniono ponizej.

Opis pilota zdalnego sterowania:

Tryb automatyczny

L Wigcz/tryb gotowosci
PR— —_— AUTO

L Pre dko$¢ dynamicznaA

—
N/
Jasnosc '.~
2N
Tryb
‘-
’l \~
Kolor statyczny : .E
modyfikacja ‘ '
wyczucie czasy T —____ Funkcja
funkcjonowaé pomiaru czasu

Zablokowany _ @—_ Odblokowa¢
O @ O Tryb o




Machine Translated by Google

Instrukcja obstugi pilota zdalnego sterowania: 1.

Korzystanie z pilota; Przed

uzyciem nalezy wyciggna¢ tasme izolacyjng akumulatora. Zdalny sygnat 2,4G moze
przejs¢ przez bariere , wie c nie ma potrzeby celowania w jednostke gtéwna podczas dziatania.
2. Parowanie nowego pilota Pilot i jednostka gtéwna sa domyslinie sparowane 1 do 1.

Co wie cej, jednostke gtdwna mozna sparowac z 3 pilotami, a kazdy pilot mozna sparowa¢ z dowolng
jednostka gtéwna.

3. Bezptatny tryb zdalnego parowania;

W niektérych szczegdlnych przypadkach moze by¢ konieczne sparowanie jednostki gtéwnej z dowolnym
pilotem. Aby wiaczy¢ tryb bezptatnego zdalnego parowania, wykonaj naste pujgce czynnosci: Odtgcz
zasilanie jednostki gléwnej i podtgcz po kilku sekundach.

4. Przetgcz wyjsciowg sekwencje koloréw;

Domyslna sekwencja sygnatéw wyjsciowych sterownika to 1sWspoélny-Zielony-Czerwony-Niebieski. Jesli
aplikacja LED ma inng kolejno$¢ kabli, bezpos$rednie kolorowe klawisze nie be dg odpowiada¢ kolorowi
diody LED. W takim przypadku uzytkownik moze dostosowac¢ sekwencje sygnatéw wyjsciowych.

Uwaga: Szczytowy prad wyjsciowy wynosi 4 ampery, a maksymalny prad staty wynosi 2 ampery na kanat.
Prosze zmniejszy¢ obcigzenie, jesli jednostka gtéwna sie przegrzewa. UWAGA Nie zwiera¢ ani nie

przecigza¢ wyjs$¢ LED, moze to doprowadzi¢ do trwatego uszkodzenia!

Nacisnij przycisk lub przejdz do stanu gotowosci

Pauza

Tryb automatyczny (21 domysinych cykli trybu

Pre dkos¢/czutos$¢ wzrasta/maleje

dynamicznego)

Przetgczanie trybéw

9. e Jasno$¢ wzrasta/maleje

@ @ . . @ Zmien kolor $wiatta na:
czerwony/zielony/niebieski/z6tty/cyjan/fioletowy/bialy




Machine Translated by Google

@ @ Regularnie wytaczaj $wiatto na 1 godzine /2 godziny
godzina

@ Zablokowane/Odblokowane

Zgodnie z programem ustawiony kolorowy wyswietlacz

przeptywu

O @ O Przetgcznik to odpowiednio: model

ptatka $niegu/romantyczny/gwiazdzistego nieba

Uwaga: Dostosuj jasnos¢, gdy pre dkos¢ jest duza, lampka miga, wskazujac, ze zostata dostosowana do stanu

maksymalnego lub minimalnego.

Instrukcja obstugi aplikacji Magic Lantern:
1.1 Przeglad

Magic Lantern to aplikacja mobilna, ktéra steruje paskiem lamp LED za po$rednictwem telefonu komérkowego
Apple lub Android.

Tradycyjne sposoby sterowania, takie jak podczerwien, 433 MHz, 2,4 GHz i inne, stare sposoby przewodowe
zostang zastgpione sterowaniem za pomoca telefonu komérkowego z wygodnymi, wydajnymi i skalowalnymi
funkcjami.

Za pomocg aplikacji mobilnej mozesz tatwo i szybko kontrolowac kolor, jasno$¢ i temperature barwowg paska
Swietlnego LED. Mozesz takze ustawi¢ rézne tryby migania i sprawic¢, ze pasek Swietlny LED porusza sie w

rytm muzyki. Wystarczy wigczy¢ opaske $wietlng LED, wigczy¢ inteligentne oprogramowanie sterujgce aplikacji
Magic Lotus w telefonie komdérkowym, podtaczy¢ jeden lub wie cej kontroleréw opaski Swietlnej LED przez
Bluetooth, aby méc korzystaé z réznych ustawien i kontrolowac wiele pasm $wietinych LED. Obstuga jest

bardzo prosta, tatwa do nauczenia i obstugi.

1.2 Funkcje
Dostosuj kolorowe paski LED z 60 000 koloréw, aby zmieni¢ kolor i jasno$¢ oraz dostosuj monochromatyczne
paski LED, aby zmieni¢ jasno$¢ i temperature barwowg  Odtwarzaj muzyke mobilng lub wigcz
urzadzenie odtwarzajgce dzwie k, mozesz pozwoli¢ $wiattu

zmieniaj kolor i jasno$¢ w rytm muzyki, pie kny rytm muzyki

Wewne trzny tryb wielu ustawierh umozliwiajgcy zmiane koloru i sterowanie paskami LED bez

mobilny



Machine Translated by Google

Sterowanie na duze odlegtosci za pomocg anteny dookélnej i grupy wiele do wielu
tryb sterowania
Szybkie i fatwe automatyczne potgczenie
1.3 Wydajnos¢

Aplikacja Magic Lantern jest fatwa w obstudze i kompatybilna. Rzeczywiste testowanie i

weryfikacja setek telefonéw komdérkowych jest zgodna z obecnym rynkiem.

Wie kszo$¢ smartfonéw. Aplikacja jest mata i wygodna, zuzywa mniej systemu

zasoboéw, wie c wymagania konfiguracji mobilnej s niskie. Opdznienie sterowania

jest maty, obstuga jest dobra, kontrola Swiatta jest ptynna i zapewnia wzrok ludzi

sens.

2. Srodowisko operacyjne
Ten program aplikacji wymaga telefonéw z systemem Android 4.3 i iOS 8.0 powyzej
Konfiguracja telefonu komérkowego nie jest ograniczona.
3. Instrukcje
Uwaga: pobierz wersje na Androida i iOS i uzyj tej samej metody tutaj
w wersji na Androida jako przyktad.
3.1 Pobieranie aplikacji
Zeskanuj kod QR
Systemy iOS i Android mogg pobra¢ aplikacje ,Magic Lantern” poprzez skanowanie
kod QR. Otwérz przegladarke lub inne narze dzie z funkcjg ,Skanuj kod QR”, zeskanuj kod QR

»Magic Lantern” jak ponizej:

Po pomysinym zainstalowaniu i pobraniu oprogramowania kliknij apk, aby zainstalowac.
Po zakonczeniu instalacji pojawi sie ikona programu w naste pujgcym stylu

pulpit.

-10 -



Machine Translated by Google

"“Magic Lantern
-

)

3.2 Obstuga aplikacji

(1) Kliknij ikone aplikacji Magic Lantern i wejdz na strone aplikacji:

agic Lantern

(2) Po wejsciu do interfejsu aplikacji, jesli Bluetooth nie jest wigczony, wyswietli sie ,Allow Magic

Latarnie do Bluetooth?” Kliknij [Zezwalaj]

Allow Magic Lantern to enable Bluetooth?

DENY ALLOW

Music Mic  Schedule

(3) przetacz na interfejs koloréw i jasnosci:

-11 -



Machine Translated by Google

‘ Click to show the lamp list }

‘ Switch the color wheel }

i Display the RGB value

Click to manual

adiustment view

Click to shift the interface

(4) kliknij, aby wyswietli¢ liste lamp, wysSwietli¢ liste lamp:

Bluetooth auto connect

after search for devices Group Manage +

@Y MyDevices ¢ Q

-12-

’ Click to display setting view ‘

‘ Lamp switch button

Adjust the color

Click square icon to

adjust the color

Status of device connection




Machine Translated by Google

Group Manage

@¢ MyDevices

Q & —————— Device disconnected

(5) Kliknij, aby wyswietli¢ widok re cznej regulacji RGB:

-13-



Machine Translated by Google

6 przejdz do interfejsu trybu:

Pattern classification

Slide up and down to
adjust the mode under
the current category

Slide adjustment
speed

L

Curtain Trans Water Flc >

47 Y-C-P Flush Open
1 Auto Play

2 Magic Forward

agic Back

Adjust

7 przejdz do interfejsu rytmu muzycznego:

Previous song, Pause/Play,

Next song

ternative Ct

® ® ®

Alternative Christmas

nd Christmas

Faded

Happy Birthday

Horizon

-14 -

Switch playback
mode




Machine Translated by Google

8 Przetgcz na interfejs rytmu mikrofonu:

Music rhythm through cell
phone microphone

Music rhythm through the
microphone on the product

o

(® Phone MIC

QO External MiC

2 W
W

88 P

Style Music

O Phone MIiC

@® External MIC

i

4

2 S
Uy, N
i

© O ®
@) O (@,

Rhythm  Spectrum  Rolling

D)

Schedule

-15 -

Switch phone microphone

and external microphone

| Switch phone microphone

and external microphone

Set different rhythm

| Change the sensitivity of
MIC to match the sound




Machine Translated by Google

9 Przelacz na interfejs synchronizacji:

Timing Light-on
button

Set the time of Light-On

Set the lighting cycle

Timing Light-off
L_B button

Set the time of Light-Off

X X X X X X X B Set the light-off cycle

(10) Przetacz na interfejs modyfikacji sekwencji pinéw:

Set red light

Set green light

Set blue light

-16 -



Machine Translated by Google

Informacje FCC

(Uwaga: zawiera identyfikator FCC: 2A49J-CB01)

UWAGA: Zmiany lub modyfikacje, ktére nie zostaty wyraznie zatwierdzone przez strone
odpowiedzialny za zgodno$¢, moze uniewazni¢ uprawnienia uzytkownika do obstugi

sprze t!

To urzadzenie jest zgodne z cze $cig 15 przepiséw FCC. Eksploatacja podlega

naste pujace dwa warunki:

1) Ten produkt moze powodowac¢ szkodliwe zaktécenia.

2) Ten produkt musi akceptowa¢ wszelkie odbierane zaktécenia, w tym zaktécenia

moze spowodowac niepozgdane dziatanie.

OSTRZEZENIE: Zmiany lub modyfikacje tego produktu, ktére nie zostaty wyraznie zatwierdzone przez
impreza. Osoba odpowiedzialna za zgodno$¢ moze uniewazni¢ uprawnienia uzytkownika do obstugi
produkt.

Uwaga: ten produkt zostat przetestowany i uznany za zgodny z ograniczeniami danej klasy

B urzgdzenie cyfrowe zgodnie z cze $cig 15 przepiséw FCC. Ograniczenia te majg na celu:
zapewniajg odpowiednig ochrone przed szkodliwymi zaktiéceniami w budynkach mieszkalnych
instalacja.

Ten produkt generuje, wykorzystuje i moze emitowac energie o cze stotliwosci radiowej, a jesli nie, to
zainstalowane i uzywane zgodnie z instrukcjg, moga by¢ szkodliwe

zaktécenia w komunikacji radiowej. Jednakze nie ma na to zadnej gwarangji

zaktdcenia nie wystgpig w konkretnej instalacji. Jesli ten produkt powoduje

szkodliwe zaktécenia w odbiorze radia lub telewizji, ktére mozna okresli¢ na podstawie:

wytgczajgc i wkaczajgc produkt, zache ca sie uzytkownika do podje cia préby skorygowania usterek
zaktécenia poprzez jeden lub wie cej z naste pujgcych srodkdéw.

- Zmien orientacje lub potozenie anteny odbiorczej.

- Zwie ksz odlegto$¢ pomie dzy produktem a odbiornikiem.

- Podtgcz produkt do gniazdka w obwodzie innym niz ten, do ktérego podtgczony jest produkt

odbiornik jest podtgczony.

- Skonsultuj sie ze sprzedawcg lub doswiadczonym technikiem radiowo-telewizyjnym w celu uzyskania pomocy.

-17 -



Machine Translated by Google

PRAWIDLOWA UTYLIZACJA

Ten produkt podlega postanowieniom dyrektywy europejskiej 2012/19/UE.
Symbol przekreslonego kosza na $mieci oznacza, ze produkt wymaga selektywnej

o zbiérki Smieci na terenie Unii Europejskiej. Dotyczy to produktu i wszystkich akcesoriéw

oznaczone tym symbolem. Produktéw oznaczonych jako takie nie mozna wyrzuca¢ razem ze zwyktymi

odpadami domowymi, lecz nalezy je przekazaé¢ do punktu zbiérki w celu recyklingu

urzgdzenia elektryczne i elektroniczne.

Adres : Baoshanqu Shuangchenglu 803long 11hao 1602A-1609shi Shanghai Import do AUS:
SIHAO PTY

LTD, 1 ROKEVA STREETEASTWOOD NSW 2122 Australia Import do USA: Sanven
Technology Ltd. Suite

250, 9166 Anaheim Place, Rancho Cucamonga, CA 91730

Pooledas Group Ltd

REPUBLIKA Wielkiej Brytanii | Jednostka 5 Albert Edward House, pawilony

Preston, Wielka Brytania

SHUNSHUN GmbH

REPREZHNT KE Rémerscker 9 22021, 76351

Linkenheim-Hochstetten, Niemcy

Wyprodukowano w Chinach

-18 -



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Wsparcie techniczne i certyfikat e-gwarancji
www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-garantiecertificaat www.vevor.com/support

ZWEEP LICHTEN

MODEL: WM-3190RGB-XC-CR-1/WM-31120RGB-XC-CR-1/
WM-31150RGB-XC-CR-1/WM-3190RGB-XC-CR-TH-1/
WM-3190RGB-XC-CR-2/WM-31120RGB-XC-CR-2/
WM-31150RGB-XC-CR-2/WM-3190RGB-XC-CR-TH-2/
WM-31120RGB-XC-CR-TH-2/WM-3190RGB-XC-XH-2/
WM-31120RGB-XC-XH-2

We blijven ons inzetten om u gereedschap tegen een concurrerende prijs te bieden.

'‘Bespaar de helft', 'Halve prijs' of andere soortgelijke uitdrukkingen die door ons worden gebruikt vertegenwoordigen
slechts een schatting van de besparingen die u zou kunnen profiteren als u bepaalde gereedschappen bij ons koopt in
vergelijking met de grote topmerken en betekenen niet noodzakelijkerwijs dat ze alle categorieén van aangeboden

gereedschappen dekken. door ons. Wij verzoeken u vriendelijk om bij het plaatsen van een bestelling bij ons

goed na te gaan of u daadwerkelijk de helft bespaart in vergelijking met de grote topmerken.


https://www.vevor.com/support

Machine Translated by Google

TOUGH TOOLS, HALF PRICE

MODEL: WM-3190RGB-XC-CR-1/WM-31120RGB-XC-CR-1/
WM-31150RGB-XC-CR-1/WM-3190RGB-XC-CR-TH-1/
WM-3190RGB-XC-CR-2/WM-31120RGB-XC-CR-2/
WM-31150RGB-XC-CR-2/WM-3190RGB-XC-CR-TH-2/
WM-31120RGB-XC-CR-TH-2/WM-3190RGB-XC-XH-2/

WM-31120RGB-XC-XH-2
. “‘*\
T D%ﬁ
g \\ e st
&

’

<Afbeelding alleen ter referentie>

HULP NODIG? NEEM CONTACT MET ONS OP!

Heeft u productvragen? Technische ondersteuning nodig? Neem dan gerust contact
met ons op:

Technische ondersteuning en e-garantiecertificaat
www.vevor.com/support

Dit is de originele instructie. Lees alle instructies in de handleiding zorgvuldig

door voordat u ermee aan de slag gaat. VEVOR behoudt zich een duidelijke interpretatie
van onze gebruikershandleiding voor. Het uiterlijk van het product is afhankelijk

van het product dat u heeft ontvangen. Vergeef ons alstublieft dat we u niet opnieuw
zullen informeren als er technologie- of software-updates zijn voor ons product.



Machine Translated by Google

BELANGRIJKE VEILIGHEIDSMAATREGELEN

WAARSCHUWING: Lees en begrijp eerst deze handleiding in zijn geheel

bedienen of onderhouden van dit product. Het niet opvolgen van deze

waarschuwingen en instructies kunnen persoonlijk letsel veroorzaken of

schade aan waardevolle eigendommen. y
Vermijd dat kinderen zweeplicht gebruiken. En dit product is geen speelgoed. Niet doen
laat kinderen er mee spelen. y Blijf uit
de buurt van scherpe punten, messen en andere voorwerpen.
1.Monteer uitsluitend volgens deze instructies. Onjuiste montage kan
gevaren creéren.
2. Houd de verzamelplaats schoon en goed verlicht.

3. Niet monteren als u moe bent of onder invlioed bent van alcohol, drugs of medicijnen.

4. Productmogelijkheden zijn van toepassing op een correct en volledig gemonteerd product

alleen.

5. Voor aanvullende informatie over de hieronder genoemde onderdelen

pagina's verwijzen wij u naar het montageschema van deze handleiding. Uitpakken en

scheid alle onderdelen in een schone werkomgeving. Houd kleine reserveonderdelen buiten de buurt

bereik van kinderen.

BEWAAR DEZE INSTRUCTIES



Machine Translated by Google

PRODUCT SPECIFICATIES

L1

D

Model L1 D1 L2 T1
(mm) (mm) (mm) (mm)

WM-3190RGB-XC-CR-1 920 31 70 M12*30
WM-31120RGB-XC-CR-1 1230 31 70 M12*30
WM-31150RGB-XC-CR-1 1530 31 70 M12*30
WM-3190RGB-XC-CR-TH-1 1005 43 158 M12*30
WM-3190RGB-XC-CR-2 920 31 70 M12*30
WM-31120RGB-XC-CR-2 1230 31 70 M12*30
WM-31150RGB-XC-CR-2 1530 31 70 M12*30
WM-3190RGB-XC-CR-TH-2 1005 43 158 M12*30
WM-31120RGB-XC-CR-TH-2 1320 43 158 M12*30
WM-3190RGB-XC-XH-2 930 31 70 M12*30
WM-31120RGB-XC-XH-2 1230 31 70 M12*30




Machine Translated by Google

PAKKET BEVAT

Model / AANTAL
WM-3 WM-3 WM-3 WM-3
WM-3 WM-3
190R 1120R 1150R 190R
Geer} PICUIT 190RG 1120R
GB-X GB-X GB-X GB-X
B-XC- GB-XC
C-CR- C-CR- C-CR- C-CR-
CR-2 -CR-2
1 1 1 TH-1
1 e | ol 1 1 1 1 2 2
lichten
—.—‘5.\'
2 vlag ra 2 2 2 2 4 4
Schroef
3 2 2 2 2 4 4
(M4*15) -
4 M4-moeren 2 2 2 2 4 4
5 vulplaatje 2 2 2 2 4 4
stof
6 1 1 1 1 2 2
dop
7 eroot 2 2 2 2 4 4
haak
klein
8 2 2 2 2 4 4
haak
y 22
9 1 1 1 1 2 2
hoepel
y 20
10 1 1 1 1 2 2
hoepel
op afstand
11 1 1 1 1 1 1
controle
12 handleiding 1 1 1 1 1 1
Lente
13 1
baseren




Machine Translated by Google

Model / AANTAL
WM-31 WM-31 WM-31 WM-31 WM-31
Geen|PIC UIT 150RG 90RGB- 120RG 90RGB- 120RG
B-XC-C XC-CR- B-XC-C XC-XH- B-XC-X
R-2 TH-2 RTH-2 2 H-2
zweep
1 , 2 2 2 2 2
lichten
ig_\
2 viag T 4 4 4 4 4
Schroef
3 4 4 4 4 4
(M4*15)
4 M4-moeren 4 4 4 4 4
5 vulplaatje 4 4 4 4 4
6 stof kap 2 2 2 2 2
(F}
7 Grpte haak ‘V'J 4 4 4 4 4
klein
8 4 4 4 4 4
haak
= | Q
9 Y 2 2 2
hoepel '
y 20 0
10 Y 1 2 2 2
hoepel i
y 16 O
11 Y - - - 4 4
hoepel )
op afstand .
12 1 1 1 1 1
controle
13 handleiding 1} 1 1 1 1 1
Lent
14 ente . - 2 2
baseren




Machine Translated by Google

INSTALLATIE INSTRUCTIES

Stap 1: Til de ring op.

Stap 2: Draai de basis vast op uw

beugel op het voertuig.

==

P
~

~%

Stap 3: Sluit alle draden aan
Stap 4: Sluit aan op de batterij
overeenkomstige posities. )
) n draad, sluit de rode draad aan op de
Let op: Houd er rekening mee dat de aanwijzingen van
positieve pool en de zwarte draad naar
de pijlen aan beide zijden van de bedrading
de negatieve pool.
moet overeenkomen.

—a

Stap 5: De installatie is voltooid.

|+ DONT TREADONME

A

Test of het licht werkt

normaal gesproken.




Machine Translated by Google

GEBRUIKSAANWIJZING

Er zijn twee bedieningsmethoden: de ene via een afstandsbediening en de andere via de Magic Lantern-app.

De specifieke bedieningsmanieren voor beide methoden worden hieronder uitgelegd.

Afstandsbediening Beschrijving:

Automatische modus

Inschakelen/Stand-by
Stop  —— AUTO
Dynamische snelheidA
—
\ l‘
Helderheid N N
2%
Modus
Statische kleur @ @
aanpassing ‘ '
Tijdstip ——@ @ @EI}— Timing-
functie functie
Op slot _ @—— Ontgrendelen
O @ O Scéne-modus




Machine Translated by Google

Gebruiksaanwijzing van de afstandsbediening: 1.

Gebruik van de afstandsbediening;

Trek voor gebruik de isolatietape van de batterij eruit. Het 2,4G-afstandsbedieningssignaal kan
door een barriére gaan, dus het is niet nodig om tijdens de bediening op het hoofdapparaat te richten.
2. Nieuwe afstandsbediening koppelen De afstandsbediening en het hoofdapparaat zijn standaard 1 op 1 gekoppeld.
Bovendien kan de hoofdeenheid worden gekoppeld aan 3 afstandsbedieningen en kan elke
afstandsbediening aan elke hoofdeenheid worden gekoppeld.

3. Gratis koppelingsmodus op afstand;

In sommige specifieke gevallen moet het hoofdapparaat mogelijk worden gekoppeld aan een
afstandsbediening. Voer de volgende stappen uit voor de gratis koppelingsmodus op afstand: Sluit de
stroom van het hoofdapparaat af en sluit deze na enkele seconden weer aan.

4. Schakel de uitvoerkleurvolgorde om; De

standaard uitgangssignaalvolgorde van de controller is 1IsCommon-Groen-Rood-Blauw. Als de LED-
toepassing zich in een andere kabelvolgorde bevindt, komen de directe kleurtoetsen niet overeen met de
LED-kleur. In dit geval kan de gebruiker de volgorde van het uitgangssignaal aanpassen.

Opmerking: De piekuitgangsstroom bedraagt 4 ampére en de maximale constante stroom bedraagt 2
ampére per kanaal. Verminder de belasting als de hoofdunit oververhit raakt. LET OP Sluit de LED-

uitgangen niet kort en overbelast ze niet, dit kan tot blijvende schade leiden!

Druk op of ga naar de standby-status

Pauze

Automatische modus (21 standaard dynamische

Snelheid/gevoeligheid neemt toe/af

moduscycli)

Modusomschakeling

9. e Helderheid neemt toe/af

@ @ . .@ Schakel de lichtkleur naar:
rood/groen/blauw/geel/cyaan/paars/wit




Machine Translated by Google

@ @ Schakel de lichten regelmatig uit gedurende 1 uur/2
uur

@ Vergrendeld/ontgrendeld

Volgens het programma ingestelde

kleurstroomweergave

O @ O Schakelaar is respectievelijk: het

sneeuwvlok-/romantische-/sterrenhemelmodel

Opmerking: Pas de helderheid aan. Wanneer de snelheid groot is, knippert het lampje om aan te geven dat

deze is aangepast aan de maximale of minimale status.

Gebruiksaanwijzing van Magic Lantern APP:
1.1 Overzicht

De Toverlantaarn is een mobiele app die de LED-lampriem bestuurt via een mobiele Apple- of Android-
telefoon.

De traditionele besturingsmanieren zoals infrarood, 433 MHz, 2,4 GHz en andere oude bekabelde
manieren zullen worden vervangen door besturingsmanieren voor mobiele telefoons met handige, krachtige
en schaalbare functies.

Via de mobiele app regelt u eenvoudig en snel de kleur, helderheid en kleurtemperatuur van de LED-
lichtband. Je kunt ook verschillende knippermodi instellen en de LED-lichtband laten bewegen op het

ritme van de muziek. Houd gewoon de LED-lichtband ingeschakeld, schakel de intelligente
besturingssoftware van de Magic Lotus-lamp-app van de mobiele telefoon in, verbind een of meer
LED-lichtbandcontrollers via Bluetooth, om verschillende instellingen en bediening van meerdere

LED-lichtbanden te realiseren. De bediening is heel eenvoudig, gemakkelijk te leren en te gebruiken.

1.2 Kenmerken

y Pas gekleurde LED-strips aan met 60.000 kleuren om de kleur en helderheid te veranderen en pas
monochrome LED-strips aan om de helderheid en kleurtemperatuur te wijzigen ¥ Speel mobiele
muziek af of schakel een apparaat voor het afspelen van geluid in, u kunt het licht laten

verander de kleur en helderheid met het ritme van de muziek, het muziekritme is prachtig

y Binnen meerdere instelmodus voor kleurverandering en controle LED-strips zonder

mobiel



Machine Translated by Google

y Bediening over lange afstand met omnidirectionele antenne en veel-op-veel-groep
controle modus
y Snelle en eenvoudige automatische verbinding
1.3 Prestaties
Magic Lantern APP is gemakkelijk te gebruiken en compatibel. Het daadwerkelijke testen en
verificatie van honderden mobiele telefoons is compatibel met de huidige markt.
De meeste smartphones. APP is klein en handig, het verbruikt minder systeem
bronnen, dus de vereisten van de mobiele configuratie zijn laag. Controle vertraging
is klein, de bediening voelt goed aan, de lichtregeling is soepel met het visuele van mensen
gevoel.
2. Bedrijfsomgeving
Dit APP-programma vereist telefoons met een systeem hoger dan Andriod 4.3 en iOS 8.0
De configuratie van mobiele telefoons is niet beperkt.
3. Instructies
Opmerking: Android-versie en iOS-versie downloaden en gebruiken dezelfde methode, hier
in de Android-versie als voorbeeld.
3.1 APP-downloaden
Scan de QR-code
iOS- en Android-systemen kunnen de "Magic Lantern"-app downloaden door te scannen
de QR-code. Open de browser of andere tools met de functie "QR-code scannen”, scan de QR-

code van "Magic Lantern" zoals hieronder:

Nadat de software succesvol is geinstalleerd en gedownload, klikt u op APK om te installeren.
Nadat de installatie is voltooid, verschijnt het volgende programmapictogram

het bureaublad.

-10 -



Machine Translated by Google

"“Magic Lantern
-

)

3.2 App-bediening

(1) Klik op het Magic Lantern APP-pictogram en ga naar de APP-pagina:

agic Lantern

(2) Na het openen van de APP-interface, als Bluetooth niet is ingeschakeld, verschijnt "Allow Magic

Lantaarn naar Bluetooth?" Klik op [Toestaan]

Allow Magic Lantern to enable Bluetooth?

DENY ALLOW

Music Mic  Schedule

(3) overschakelen naar kleur- en helderheidsinterface:

-11 -



Machine Translated by Google

‘ Click to show the lamp list }

‘ Switch the color wheel }

i Display the RGB value

Click to manual

adiustment view

Click to shift the interface

(4) klik om de lampenlijst weer te geven, bekijk de lampenlijst:

Bluetooth auto connect

after search for devices Group Manage +

@Y MyDevices ¢ Q

-12 -

’ Click to display setting view ‘

‘ Lamp switch button

Adjust the color

Click square icon to

adjust the color

Status of device connection




Machine Translated by Google

Group Manage +

@¢ MyDevices

\ -}

¥ o> SR Device disconnected

(5) Klik om de handmatige RGB-aanpassingsweergave te bekijken:

-13-



Machine Translated by Google

(6) schakel over naar de modusinterface:

o
Pattern classification d Basic Curtain  Trans Water Flc >

46 Y-C-P Flush CI

Slide up and down to 47 Y-C-P Flush Open

adjust the mode under | | 1 Auto Play
the current category 2 Magic Forward

agic Back

Slide adjustment

speed

Adjust

(7) schakel over naar de muziekritme-interface:

ternative Ct

4 Switch playback
Previous song, Pause/Play, ® @ ©) mode

Next song o

Alternative Christmas

nd Christmas

Faded

Happy Birthday

Horizon

-14 -



Machine Translated by Google

(8) Schakel over naar de microfoonritme-interface:

o]
Music rhythm through cell

phone microphone

(® Phone MIC

QO External MiC

2 W
W

Music rhythm through the

3 Phone MIC
microphone on the product O Phone

@® External MIC

i

4

2 S
Uy, N
i

© O ®
@) O (@,

Rhythm  Spectrum  Rolling

D)

Schedule

-15 -

Switch phone microphone

and external microphone

| Switch phone microphone

and external microphone

Set different rhythm

| Change the sensitivity of
MIC to match the sound




Machine Translated by Google

(9) Schakel over naar de timinginterface:

Set the time of Light-On

Set the time of Light-Off

(10) Schakel over naar de interface voor het wijzigen van de pinsequentie:

Set red light

Set green light

Set blue light

Schedule Off

Time

a X X X X X X B

Adjust __ Style

-16 -

Timing Light-on
button

Set the lighting cycle

Timing Light-off
button

Set the light-off cycle




Machine Translated by Google

FCC-informatie

(Opmerking: bevat FCC ID: 2A49J-CB01)

LET OP: Wijzigingen of aanpassingen die niet uitdrukkelijk door de partij zijn goedgekeurd

die verantwoordelijk is voor naleving kan de bevoegdheid van de gebruiker om het apparaat te bedienen ongeldig maken
apparatuur!

Dit apparaat voldoet aan Deel 15 van de FCC-regels. De werking is onderworpen aan de

volgende twee voorwaarden:

1) Dit product kan schadelijke interferentie veroorzaken.

2) Dit product moet alle ontvangen interferentie accepteren, inclusief interferentie die

kan een ongewenste werking veroorzaken.

WAARSCHUWING: Wijzigingen of aanpassingen aan dit product die niet uitdrukkelijk zijn goedgekeurd door
het feest. Verantwoordelijk voor naleving kan de bevoegdheid van de gebruiker om het apparaat te bedienen ongeldig maken
Product.

Opmerking: Dit product is getest en voldoet aan de limieten voor een klasse

B digitaal apparaat overeenkomstig Deel 15 van de FCC-regels. Deze limieten zijn bedoeld om
redelijke bescherming bieden tegen schadelijke interferentie in een woonomgeving

installatie.

Dit product genereert, gebruikt en kan radiofrequentie-energie uitstralen, en zo niet

geinstalleerd en gebruikt in overeenstemming met de instructies, kan schadelijk zijn

interferentie met radiocommunicatie. Er is echter geen garantie daarvoor

Er zal geen interferentie optreden in een bepaalde installatie. Als dit product dit veroorzaakt
schadelijke interferentie voor radio- of televisieontvangst, die kan worden vastgesteld aan de hand van:
Als u het product uit- en weer inschakelt, wordt de gebruiker aangemoedigd om te proberen het probleem te corrigeren
interferentie door een of meer van de volgende maatregelen.

- Heroriénteer of verplaats de ontvangstantenne.

- Vergroot de afstand tussen het product en de ontvanger.

- Sluit het product aan op een stopcontact op een ander circuit dan dat waarop de

ontvanger is aangesloten.

- Raadpleeg de dealer of een ervaren radio-/tv-technicus voor hulp.

-17 -



Machine Translated by Google

CORRECTE VERWIJDERING

Dit product valt onder de bepalingen van de Europese Richtlijn 2012/19/EU.

Het symbool met een doorgestreepte afvalcontainer geeft aan dat het product in de

Europese Unie een aparte afvalinzameling vereist. Dit geldt voor het product en alle

—
accessoires

gemarkeerd met dit symbool. Producten die als zodanig zijn gemarkeerd, mogen niet met het normale

huisvuil worden weggegooid, maar moeten voor recycling naar een inzamelpunt worden gebracht
elektrische en elektronische apparaten.

Adres : Baoshanqu Shuangchenglu 803long 11hao 1602A-1609shi Shanghai

Geimporteerd naar AUS: SIHAO PTY LTD, 1 ROKEVA STREETEASTWOOD
NSW 2122 Australié

Geimporteerd naar de VS: Sanven Technology Ltd. Suite 250, 9166 Anaheim
Place, Rancho Cucamonga, CA 91730

Pooledas Group Ltd
B ritS e REP| Eenneid 5 Albert Edward House, de paviljoens

Preston, Verenigd Koninkrijk

SHUNSHUN GmbH

EG REP Romeracker 9 22021, 76351

Linkenheim-Hochstetten, Duitsland

Gemaakt in China

-18 -



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Technische ondersteuning en e-
garantiecertificaat www.vevor.com/support


https://www.vevor.com/support

Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk support och e-garanticertifikat www.vevor.com/support

PISKA LJUS

MODELL: WM-3190RGB-XC-CR-1/WM-31120RGB-XC-CR-1/
WM-31150RGB-XC-CR-1/WM-3190RGB-XC-CR-TH-1/
WM-3190RGB-XC-CR-2/WM-31120RGB-XC-CR-2/
WM-31150RGB-XC-CR-2/WM-3190RGB-XC-CR-TH-2/
WM-31120RGB-XC-CR-TH-2/WM-3190RGB-XC-XH-2/
WM-31120RGB-XC-XH-2

Vi fortsétter att vara engagerade i att ge dig verktyg till konkurrenskraftiga priser.

"Spara hélften", "halva priset" eller andra liknande uttryck som anvands av oss representerar
bara en uppskattning av besparingar du kan dra nytta av att kdpa vissa verktyg hos oss jamfort med
de stora toppmaérkena och betyder inte nddvandigtvis att tdcka alla kategorier av verktyg som erbjuds

av oss. Du paminns vanligen om att noggrant kontrollera nar du gor en bestéllning hos oss om

du faktiskt sparar halften i jamforelse med de framsta stora varumarkena.


https://www.vevor.com/support

Machine Translated by Google

VEVOR' o

TOUGH TOOLS, HALF PRICE

MODELL: WM-3190RGB-XC-CR-1/WM-31120RGB-XC-CR-1/
WM-31150RGB-XC-CR-1/WM-3190RGB-XC-CR-TH-1/
WM-3190RGB-XC-CR-2/WM-31120RGB-XC-CR-2/
WM-31150RGB-XC-CR-2/WM-3190RGB-XC-CR-TH-2/
WM-31120RGB-XC-CR-TH-2/WM-3190RGB-XC-XH-2/

WM-31120RGB-XC-XH-2
. \\
e/ D%Mﬁ
\\ . 2 .

- ) .
P

’

<Endast bild for referens>

BEHOVS HIJALP? KONTAKTA OSS!

Har du produktfrdgor? Behdver du teknisk support? Kontakta oss garna:

Teknisk support och e-garanticertifikat
www.vevor.com/support

Detta ar den ursprungliga instruktionen, las alla instruktioner

noggrant innan du anvander den. VEVOR reserverar sig for en tydlig
tolkning av var anvandarmanual. Utseendet pa produkten ar beroende

av den produkt du fatt. Ursékta oss att vi inte kommer att informera dig
igen om det finns nagon teknik eller mjukvaruuppdateringar pa var produkt.



Machine Translated by Google

VIKTIGA SAKERHETSATGARDER

VARNING: Lés och forstd hela denna manual innan

anvanda eller serva denna produkt. Underlatenhet att félja dessa

varningar och instruktioner kan orsaka personskada eller

skada pa vardefull egendom. y
Undvik att barn anvander piskljus. Och den har produkten &r inte en leksak. Lat bli
l&ta barn leka med. y Hall dig
borta frén vassa spetsar, knivar och andra féremal.
1. Montera endast enligt dessa instruktioner. Felaktig montering kan
skapa faror.
2. Hall monteringsomradet rent och val upplyst.
3. Satt dig inte ihop nar du &r trétt eller paverkad av alkohol, droger eller medicin.

4. Produktegenskaper galler for korrekt och fullstandigt monterad produkt
endast.

5. For ytterligare information om delarna som listas nedan

sidorna, se monteringsdiagrammet i denna manual. Packa upp och

separera alla delar i ett rent arbetsomrade. Vanligen hall sma reservdelar borta
barns rackvidd.

SPARA DESSA INSTRUKTIONER



Machine Translated by Google

PRODUKTSPECIFIKATIONER

L1

D

Modell L1 D1 L2 T1
(mm) (mm) (mm) (mm)
WM-3190RGB-XC-CR-1 920 31 70 M12*30
WM-31120RGB-XC-CR-1 1230 31 70 M12*30
WM-31150RGB-XC-CR-1 1530 31 70 M12*30
WM-3190RGB-XC-CR-TH-1 1005 43 158 M12*30
WM-3190RGB-XC-CR-2 920 31 70 M12*30
WM-31120RGB-XC-CR-2 1230 31 70 M12*30
WM-31150RGB-XC-CR-2 1530 31 70 M12*30
WM-3190RGB-XC-CR-TH-2 1005 43 158 M12*30
WM-31120RGB-XC-CR-TH-2 1320 43 158 M12*30
WM-3190RGB-XC-XH-2 930 31 70 M12*30
WM-31120RGB-XC-XH-2 1230 31 70 M12*30




Machine Translated by Google

PAKET INGAR
Modell / ANTAL
WM-3 WM-3 WM-3 WM-3
WM-3 WM-3
190R 1120R 1150R 190R
Ingen PIC OFF 190RG 1120R
GB-X GB-X GB-X GB-X
B-XC- GB-XC
C-CR- C-CR- C-CR- C-CR-
CR-2 -CR-2
1 1 1 TH-1
piska
1 e 1 1 1 1 2 2
lampor
TR
L?,L"a”""
2 flagga ‘ 2 2 2 2 4 4
Skruva
3 2 2 2 2 4 4
(M4*15)
4 M4 muttrar 2 2 2 2 4 4
5 shim 2 2 2 2 4 4
damm
6 1 1 1 1 2 2
keps
i
7 Stor 2 2 2 2 4 4
krok
sma
8 2 2 2 2 4 4
krok
y 22
9 1 1 1 1 2 2
ring
y 20
10 1 1 1 1 2 2
ring
avlagsen
11 1 1 1 1 1 1
kontrollera
12 manual 1 1 1 1 1 1
Var
13 1
bas




Machine Translated by Google

Modell / ANTAL
WM-31 WM-31 WM-31 WM-31 WM-31
Inger| PIC OFF 150RG 90RGB- 120RG 90RGB- 120RG
B-XC-C XC-CR- B-XC-C XC-XH- B-XC-X
R-2 TH-2 R-TH-2 2 H-2
iska
1 P = 2 2 2 2 2
lampor
”g_\
2 flagga = 4 4 4 4 4
Skruva
3 4 4 4 4 4
(M4*15)
4 M4 muttrar 4 4 4 4 4
5 shim 4 4 4 4 4
6 dammkapa 2 2 2 2 2
7 Stor krok 4 4 4 4 4
sma
8 4 4 4 4 4
krok
y 22
9 2 2 2
ring
¥ 20
10 2 2 2
ring
¥ 16
11 - - - 4 4
ring
avlagsen
12 1 1 1 1 1
kontrollera
13 manual 1 1 1 1 1
a |V - 2 2
bas




Machine Translated by Google

INSTALLATIONS INSTRUKTIONER

Steg 1: Lyft ringen.

Steg 2: Dra at basen pa din

faste pa fordonet.

~%

Steg 3: Anslut alla kablar till
Steg 4: Anslut till batteriet
motsvarande positioner.
o ledning, anslut den réda ledningen till
Obs: Observera att anvisningarna for
positiv pol och den svarta ledningen till
pilarna pa bada sidor av ledningarna
minuspolen.
maste dverensstamma.

—a

Steg 5: Installationen ar Kklar.

|+ DONT TREADONME

A

Vanligen testa om lampan fungerar

i vanliga fall.




Machine Translated by Google

BRUKSANVISNINGAR

Det finns tvd anvandningsmetoder: en &r via en fjarrkontroll och den andra &r via Magic Lantern App. De

specifika driftsatten for bada metoderna forklaras nedan.

Beskrivning av fjarrkontrollen:

Automatiskt lage

Sla pa/standby
Sluta ~ —— AUTO
e Dynamisk hastighetA
N/
Lage
Statisk farg @ @ ‘H
justering ‘ '
Timing ——@ @ @EI}— Timing
fungera funktion
LéSt _ @__ Lésaupp
O @ O Scenlage




Machine Translated by Google

Anvandarmanual for fjarrkontrolleny 1.

Anvanda fjarrkontrollen; Dra

ut batteriisoleringstejpen innan du anvander den. 2.4G-fjarrsignalen kan passera
genom barriaren, sa det ar inte nédvandigt att rikta in sig pa huvudenheten nar den anvanc
2. Parning av ny fjarrkontroll Fjarrkontrollen och huvudenheten &r 1 till 1 parade som standard.
Dessutom kan huvudenheten kopplas ihop med 3 fjarrkontroller och varje fjarrkontroll kan paras
ihop med vilken huvudenhet som helst.

3. Gratis fjarrparningslage; | vissa

specifika fall kan huvudenheten behdva paras ihop med alla fjarrkontroller. Vanligen utfor féljande
steg for gratis fjarrparningslage: Koppla av strommen till huvudenheten och anslut efter nagra
sekunder.

4. Switch Output Color Sequence;

Regulatorns standardutgdngssignalsekvens 1sCommon-Gron-Rod-Bla. Om LED-applikationen &r
i annan kabelsekvens kommer de direkta fargknapparna inte att matcha LED-fargen. | detta fall
kan anvandaren justera utsignalsekvensen.

Notera: Toppstrémmen &r 4 ampere och maximal konstant strém &ar 2 ampere per kanal. Minska
belastningen om huvudenheten éverhettas. FORSIKTIGHET Kortslut eller 6verbelasta inte LED-

utgangarna, detta kan leda till permanent skada!

Tryck pé eller ga in i vantelage

Paus

Automatiskt lage (21 forinstallda dynamiska

Hastigheten / kéansligheten 6kar / minskar

lagescykler)

Lagesvaxling

9. & Ljusstyrkan dkar / minskar

@ @ . . @ Byt ljusfargen till: r6d/gron/
bl&/gul/cyan/lila/vit




Machine Translated by Google

@ @ Slack lamporna regelbundet i 1 timme/2
timme

@ Last/Upplast

Enligt programmets installda fargflodesdisplay

O @ O Switch respektive &r: modellen

snoflinga/romantisk/stjarnhimmel

Obs: Justera ljusstyrkan, nér hastigheten ar hg blinkar lampan for att indikera att den har justerats till

max- eller minimumlage.

Anvandarmanual for Magic Lantern APP:
1.1 Oversikt

The Magic Lantern ar en mobilapp som styr LED-lampsbaltet via Apple eller Android mobiltelefon.

De traditionella kontrollsatten som infrardd, 433MHz, 2,4GHz och andra gamla trddbundna satt

kommer att ersattas av mobiltelefonkontroll med praktiska, kraftfulla och skalbara funktioner.

Genom mobilappen kan du enkelt och snabbt styra farg, ljusstyrka och fargtemperatur pa LED-
ljusbéltet. Du kan ocksa stalla in olika blinklagen och f& LED-ljusbaltet att réra sig med musikrytmen.
Hall bara LED-ljusbandet paslaget, sl& pa mobiltelefonen Magic Lotus lamp app intelligent
kontrollprogramvara, anslut en eller flera LED-ljusbandskontroller via Bluetooth, fér att realisera
olika installningar och kontroll av flera LED-ljusband. Driften ar mycket enkel, 1att att lara sig och

anvanda.

1.2 Funktioner

y Justera farg LED-remsor med 60 000 farger for att &ndra férg och ljusstyrka och justera monokroma
LED-stift for att &ndra ljusstyrka och fargtemperatur y Spela mobilmusik eller sl& pa en
ljuduppspelningsenhet, du kan lata ljuset

andra farg och ljusstyrka med musikens rytm, musikrytmen ar vacker

y Inuti flera installningslage for fargbyte och kontroll LED-remsor utan

mobil



Machine Translated by Google

y Langdistanskontroll med rundstrélande antenn och manga-till-manga-grupp

kontrollage
y Snabb och enkel automatisk anslutning

1.3 Prestanda
Magic Lantern APP &r latt att anvanda och kompatibel. Sjalva testningen och
verifiering av hundratals mobiltelefoner &r kompatibel med den nuvarande marknaden.
De flesta smartphones. APP &r liten och bekvam, den férbrukar mindre system
resurser, s kraven for den mobila konfigurationen ar laga. Kontrollférdrojning
ar liten, operationen kanns bra, ljuskontrollen ar smidig med manniskors visuella

kansla.
2. Driftmilj6
Detta APP-program kraver telefoner med system éver Andriod 4.3 och iOS 8.0
Mobiltelefonkonfigurationen &r inte begransad.
3. Instruktioner
Obs: Android-version och iOS-version ladda ner och anvand samma metod, har
i Android-versionen som ett exempel.
3.1 APP-nedladdning
Skanna QR-koden
iOS- och Android-system kan ladda ner appen " Magic Lantern " genom att skanna
QR-koden. Oppna webblasaren eller andra verktyg med funktionen "Skanna QR-kod", skanna

QR-koden "Magiska lyktan" enligt nedan:

Nar programvaran har installerats och laddats ned, klicka pa apk for att installera.
Nar installationen ar klar visas foljande programikon

skrivbordet.

-10 -



Machine Translated by Google

"“Magic Lantern
-

)

3.2 Appdrift
(1) Klicka pa Magic Lantern APP-ikonen, ga in pa APP-sidan:

agic Lantern

(2) Efter att ha gatt in i APP-granssnittet, om Bluetooth inte &r aktiverat, "Tillat magi
Lantern to Bluetooth ?" Klicka pa [Tillat]

Allow Magic Lantern to enable Bluetooth?

DENY ALLOW

Music Mic  Schedule

(3) byt till granssnitt for farg och ljusstyrka:

-11 -



Machine Translated by Google

‘ Click to show the lamp list }

‘ Switch the color wheel }

i Display the RGB value

Click to manual

adiustment view

Click to shift the interface

y4y klicka for att visa lamplistan, se lamplistan:

Bluetooth auto connect

after search for devices Group Manage +

@Y MyDevices ¢ Q

-12 -

’ Click to display setting view ‘

‘ Lamp switch button

Adjust the color

Click square icon to

adjust the color

Status of device connection




Machine Translated by Google

Group Manage +

¢ My Devices

v N Device disconnected

y5y Klicka for att visa RGB manuell justering:

-13-



Machine Translated by Google

y6y vaxla till lAgesgranssnittet:

Pattern classification

Slide up and down to
adjust the mode under
the current category

Slide adjustment

speed

L

Curtain Trans Water Flc >

4 Y » Flush Cli
47 Y-C-P Flush Open
1 Auto Play

2 Magic Forward

agic Back

Music

y7y vaxla till musikrytmgrénssnittet:

Previous song, Pause/Play,

Next song

ternative Ct

® ® ®

Switch playback
mode

Alternative Christmas

Be

Blue and White P

and Christmas

The Boss
stek &

Croatia

Faded

Happy Birthday

Horizon

» Man

oo
oo

Style  Mu Mic___Schedule

-14 -



Machine Translated by Google

y8y Vaxla till mikrofonens rytmgranssnitt:

o]
Music rhythm through cell

phone microphone

(® Phone MIC

QO External MiC

2 W
W

88 P

Style Music

Music rhythm through the

3 Phone MIC
microphone on the product O Phone

@® External MIC

i

4

2 S
Uy, N
i

© O ®
@) O (@,

Rhythm  Spectrum  Rolling

D)

Schedule

-15 -

Switch phone microphone

and external microphone

| Switch phone microphone

and external microphone

Set different rhythm

| Change the sensitivity of
MIC to match the sound




Machine Translated by Google

Y9y Vaxla till tidsgrénssnittet:

. Timing Light-on
Time button

Set the time of Light-On

- 000000 ®

Set the lighting cycle

Timing Light-off
L_B button

Set the time of Light-Off

2 X X X X X N B Set the light-off cycle

y10y Vaxla till granssnittet for modifiera pinsekvens:

Set red light

Set green light

Set blue light

-16 -



Machine Translated by Google

FCC-information

(Anmarkning: Innehaller FCC ID: 2A49J-CB01)

VARNING: Andringar eller modifieringar som inte uttryckligen godkéants av parten
ansvarig for efterlevnad kan ogiltigférklara anvéndarens behdrighet att anvénda
Utrustning!

Denna enhet uppfyller del 15 av FCC-reglerna. Driften ar foremal for

féljande tva villkor:

1) Denna produkt kan orsaka skadliga storningar.

2) Denna produkt maste acceptera alla mottagna stérningar, inklusive stérningar som
kan orsaka odnskad funktion.

VARNING: Andringar eller modifieringar av denna produkt som inte uttryckligen godkants av
festen. Ansvarig for efterlevnad kan ogiltigférklara anvandarens behérighet att anvanda
produkt.

Obs: Denna produkt har testats och befunnits 6verensstdmma med granserna for en klass
B digital enhet i enlighet med del 15 av FCC-reglerna. Dessa granser ar utformade for att
tillhandahalla rimligt skydd mot skadliga stérningar i ett boende

installation.

Denna produkt genererar, anvander och kan utstréla radiofrekvensenergi, och om inte
installeras och anvands i enlighet med instruktionerna, kan orsaka skadliga

storningar pa radiokommunikation. Det finns dock ingen garanti for det

storningar kommer inte att intraffa i en viss installation. Om denna produkt orsakar
skadliga storningar pa radio- eller tv-mottagning, vilket kan faststéllas av

stanger av och satter pa produkten, uppmanas anvandaren att forsoka korrigera

storning av en eller flera av féljande atgarder.

- Rikta om eller flytta mottagningsantennen.

- Oka avstandet mellan produkten och mottagaren.

- Anslut produkten till ett uttag pd en annan krets an den till vilken

mottagaren ar ansluten.

- Kontakta aterforsaljaren eller en erfaren radio/TV-tekniker for hjalp.

-17 -



Machine Translated by Google

KORREKT AVFALLSHANTERING

Denna produkt omfattas av bestémmelserna i det europeiska direktivet
2012/19/EU. Symbolen som visar en soptunna korsad anger att produkten kréver
separat sophamtning i EU. Detta géaller produkten och alla tillbehor

_— CPYSP 9 getere
markt med denna symbol. Produkter markta som sadana far inte slangas tillsammans med vanligt

hushallsavfall utan maste lamnas till en insamlingsplats for atervinning
elektriska och elektroniska apparater.

Adress : Baoshanqu Shuangchenglu 803long 11hao 1602A-1609shi Shanghai
Importerad

till AUS: SIHAO PTY LTD, 1 ROKEVA STREETEASTWOOD NSW 2122 Australien
Importerad till USA:

Sanven Technology Ltd. Suite 250, 9166 Cucamonga Rancho, CA 9166
Cucamonga, Rancho, CA 9166 Cucamonga, 730 Rancho, CA

Pooledas Group Ltd
U K R E P Enhet 5 Albert Edward House, The Pavilions

Preston, Storbritannien

SHUNSHUN GmbH

EC REP | Romeracker 922021, 76351

Linkenheim-Hochstetten, Tyskland

Tillverkad i Kina

-18 -



Machine Translated by Google

VEVOR

TOUGH TOOLS, HALF PRICE

Teknisk support och e-garanticertifikat
www.vevor.com/support


https://www.vevor.com/support

	1.1 Overview
	1.2 Features
	1.3 Performance
	2. Operating Environment
	3. Instructions
	3.1  APP Download
	3.2 App Operation


